C-Lube Linear Roller Way Super MX

Linear Roller Way Super X

I-147 I-148



C-Lube maintenance free series

C-Lube Linear Roller Way Super M X

~LUDE
M \Eﬁanceree

|: Track rail :I

End seal

Features

I The roller type linear motion rolling guide achieves

the highest level of the performance

The superior characteristic of the roller makes linear motion rolling
guide realize the most high-level performance in load capacity, ri-
gidity, friction, every characteristic including running accuracy.

. Wide variation corresponding to needs

Five shapes of slide unit, flanged type, block type, side mounting
type and etc. are lined up with four variations in length of slide unit
with same section. They are available for optimal products to fit
for requirement of machine and equipment.

Aquamarine endplate for
identification of C-Lube Linear Way

[ slide unit _|

End plate
Casing

Cylindrical rollers
Retaining plate
Grease nipple

Under seal

mear .Rg‘.er Way Super X

LRX

I Extra high rigidity long unit

Extra high rigidity long type slide unit, which is 1.4 to 1.5 times
rigid as standard slide unit, is serialized. Because number of roll-
ers is increased, super high precise running performance is
achieved, not only load capacity and rigidity.

. Stainless steel

The main metal components made of corrosion resistant stainless
steel are available for small size from 10mm of track rail width.
Therefore, they are most suitable for use in cleanroom environ-
ment and also for applications where the use of lubricants and
rust preventive oil should be avoided or kept to a minimum.

. Easy replacement instead of ball type guide

Mounting dimensions are compatible as ball type Linear Way, MH
and LWH series. Therefore, replacement to roller type is possible
without design change of machine and equipment.

I-149

JLIK[0)
ldentification number and specification

The specification of MX and LRX series are identified by the
identification number, which consists of a model code, a
size, a part code, a preload symbol, a classification symbol,
interchangeable code and optional supplemental codes.

Interchangeable specification 0 @ 9 0 @ @ 0 @ @ @

Slide unit only MX G 1 5 C1 S1
—T T | | |

Track rail only (") LRX T R240 P St
-1 -1 T | | |

Assenbled set MX G 1 5 C2 R240 T+ P S1 /Z
-1 T

Non-interchangeable specification

Assenbled set MX TGF 15 C2 R240 T1 P /Z

N

Model

OSeries
code
@Lenglh of slide unit L

Osiz S

Size  onpage I-151

on page I-151

oNumber of slide unit J
z:ge on page I-152
@Length of track rail /
@Material . J
Material iR T2
symbol
J
Preload amount
RiElezs on page I-155
symbol
@Accuracv class . /
Sl on page I-156
symbol
J
Interchangeable B
ntevcrargeabeon page I-157

ootk

J

®Special specification -

on page I-157,

Note (") : For the model code of a single track rail of interchangeable specification, indicate "LRX" regardless of the slide unit type to be com-
bined.

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch I-150




JLak(0] JLIKE[D)
|dentlllcatlﬂll numhel‘ and Slleclllcatllln —Series - Length of slide unit - Size— —Number of slide units - Length of track rail - Material —

o Series C-Lube Linear Roller Way Super MX  Flange type mounting from top/bottom  : MX(2) o Number of slide units :CO For an assembled set, indicates the number of slide
(MX Series) Block type mounting from top : MXD units assembled on one track rail. For an interchange-
Compact block type mounting from top : MXS able slide unit only, “C1” can be indicated.
Low section flange type mounting from top : MXN
Low section block type moUTEHAITRESERISERES @ Length of track rail RO Indicate the length of track rail in mm.
Linear Roller Way Super X (") Flange type mounting from top/bottom : LRX(?) For standard and maximum lengths, see Table 2.1, 2.2,
(LRX Series) Block type mounting from top : LRXD 2.3,24.
Compact block type mounting from top : LRXS
Applicable size and shape of slide unit are shown in Table 1.1 and 1.2. @ Material High carbon steel : No symbol Applicable types and sizes are shown in, Tables 1.1
For the model code of track rail of interchangeable specification, indicate “LRX" regardless of Stainless steel 1 SL and 1.2.

the slide unit type to be combined.

Note (") : Linear Roller Way without C-Lube.
() : MX20 (LRX20) can be mounted from top only. MXH20 (LRXH20) can be mounted from

bottom, which has the same dimensions as those of above models. Table 1.2 Model and size of MX and LRX
Size
: g Material Shape Length of slide unit | Model code
@ Length of slide unit Short :C Applicable size and shape of slide unit are shown in P 9 10 | 12 | 15 | 20 | 25 | 30 | 35 | 45 | 55 | 65 | 85 | 100
Standard : No symbol Table 1.1 and 1.2. B B B B B B
High rigidity long :G Short MXSC - -] O |O| O| O
Extra high rigidity long L = Bl ——— LRXSC _ _ o o o o _ _ _ _ _ _
0 Size of rolling guide 10, 12, 15, 20, 25, 30, 35, 45, 55, 65, Applicable size and shape of slide unit are shown in GCompact block MXS - | -]0 10O |O|O|O|O|—-| |-
85, 100 Table 1.1 and 1.2. i
we | - [-Jolofofol-[-[-[-]-]-
¥
aie MXSG - - O|lO0|O|]O| O] O] O - - -
Table 1.1 Model and size of MX and LRX m LRXSG _ _ olol|l ol o — — — — — —
Size
Material Shape Length of slide unit | Model code o5 3 a0 = e lae & o= @ e Extra high
r'g'd'ty angm MXSL = - - O O | O - - - - - -
MXC - Ol o |jom O | O] O] 0| 0|0 - - =
LRXC - ]O] OO OOl O]O]O|0O|—-|- ° Standard
5 MXN - - - - - O| O] OO - - -
MX - Ol O |jom O | O] OO0 | OO0 - - 5 i
Flange type mounted 8 Iﬁow se?tlon
from top/bottom @ ange type o
LRX - O] O |OMO|]O|] OO 0| 0O - o | mounting from top | High rigidity long
HH Gl HH| -s" MXNG - - - - - o o o o - - -
il m i MXG -|OoJ]O|OMHO|]O|O|O]|O|O|~-]|- I Wﬁr 1il
t LRXG - lo|lo|lomo|lo|lo|lolololo]o E;}:,?t;‘ i%,lg
EET MXNL = = = - - O O | O O - - -
— xtra hig _ _ _ - _
§ rigidity long MXL oMo | O | o] O] 0|0
(%)
5 LRXL = = = = = = = = = = O =
e} MXNS = = = - - O| O] OO - - -
8 MXDC -|lojlo|jojojo|jo|Oo|Oo|O|-|- Low section
< block type
I LRXDC -0 OOl O]O|]O|O]O]|O = = mounting from top
MXNSG - - - - - O O O O - - -
MXD = oO|lo|]O0O|]O0O|O]O|]0O0| OO - -
Block type
mounted from top _ _ _ Extra high
LRXD oO|lo|]Oo0o]O0 | OO0 OO rigidity long
G et MXNSL = = = - - O O | O O - - -
M:l High rigidity long | MXDG -lojJo|lo]o|lo|lo|lo|]Oo]|]O| - |- =
LRXDG -0 ] O] O|O]|]O]O]O|O]|O - -
LRXDC-SL | — OO O] O] O = = — — — _
Extra high
igidity | D
- 0!':‘9 g S = = - elejele o @ b= = 8 mou%lt?r?klﬁr};ﬁ to
C 2 9em P standard MXD---SL -|loflo|lo|o|o|-|-|-|-|-]|-
a .
Note (") : MXC20, MX20, MXG20, MXL20, LRXC20, LRX20, LRXG20 can be mounted from top. Models that can be mounted with same di- ic’ LRXD---SL 0) e @) e @) e — — — — — —
mensions are MXHC20, MXH20, MXHG20, MXHL20, LRXHC20, LRXH20, LRXHG20. o]
Remark : The mark [___] indicates that interchangeable specification is available. 0
LRXDG-SL | — O]l O] O] O] O = = — - _ _

Remark : The mark ] indicates that interchangeable specification is available.

1N=0.102kgf=0.2248lbs.
I-151 1mm=0.03937inch I-152



I

—Track rail length—

Table 2.1 Standard and maximum lengths of high carbon steel track rails

n (Number of mounting holes)

/ — ==
T T

% et /s
| | | |

JLILA \ JLILA

—Track rail length—

I

Table 2.3 Standard and maximum lengths of high carbon steel track rail (Half pitch of track rail mounting holes specification /HP)

n (Number of mounting holes)

/
L

E F
L
unit : mm
Model number MX 12 MX 15 MX 20 MX 25 MX 30 MX 35
Item LRX12 LRX15 LRX20 LRX25 LRX30 LRX35
80 ( 2) 180 ( 3) 240 ( 4) 240 ( 4) 480 ( 6) 480 ( 6)
160 ( 4) 240 ( 4) 480 ( 8) 480 ( 8) 640 ( 8) 640 ( 8)
240 ( 6) 360 ( 6) 660 (11) 660 (11) 800 (10) 800 (10)
320 ( 8) 480 ( 8) 840 (14) 840 (14) 1040 (13) 1040 (13)
Standard length L(n) 400 (10) 660 (11) 1020 (17) 1020 (17) 1200 (15) 1200 (15)
480 (12) 1200 (20) 1200 (20) 1520 (19) 1520 (19)
560 (14) 1500 (25) 1500 (25)
640 (16)
720 (18)
Pitch of mounting holes F 40 60 60 60 80 80
E 20 30 30 30 40 40
Standard range incl. 5.5 7 8 9 10 10
of E(") under 255 37 38 39 50 50
Maximum length(2) 1480 1500 1980 3 000 2 960 2 960
(1.980) (3 000) (3 960) (4 000) (4 000)
Model number MX 45 MX 55 MX 65
Item LRX45 LRX55 LRX65 LRX85 LRXG100
840 ( 8) 840 ( 7) 1500 (10) 1620 ( 9) 1500 (10)
1050 (10) 1200 (10) 1950 (13) 1980 (11) 1950 (13)
Standard length L(n) 1260 (12) 1560 (13) 3000 (20) 2 340 (13) 3000 (20)
1470 (14) 1920 (16) 2700 (15)
1995 (19) 3 000 (25)
Pitch of mounting holes F 105 120 150 180 150
E 52.5 60 75 90 75
Standard range incl. 12.5 15 17 23 29
of E(") under 65 75 92 113 104
Maximum length(2) 2940 3 000 3 000 2880 3 000
(3 990) (3 960) (3 900)

Notes (") : Not applicable to the track rail with female threads for bellows (supplemental code “/J”).

() : Track rails with the maximum lengths shown in parentheses can also be manufactured. Consult I3 for further information.

Remarks 1 : For half pitch of track rail mounting holes (supplemental code “/HP”), refer to Table 2.3.

2 : For the model code of track rail of interchangeable specification, indicate “LRX" regardless of the slide unit type to be combined.
3 : The above table shows representative model numbers but is applicable to all models of the same size.

LU \
E F E
L
unit : mm
Model number | MX 12:--/HP MX 15---/HP MX 20---/HP MX 25---/HP MX 30---/HP MX 35---/HP
Item LRX12:--/HP LRX15---/HP LRX20---/HP LRX25---/HP LRX30---/HP LRX35---/HP
80 ( 4) 180 ( 6) 240 ( 8) 480 (16) 480 (12) 480 (12)
160 ( 8) 240 ( 8) 480 (16) 660 (22) 640 (16) 640 (16)
240 (12) 360 (12) 660 (22) 840 (28) 800 (20) 800 (20)
320 (16) 480 (16) 840 (28) 1020 (34) 1040 (26) 1040 (26)
Standard length  L(n) 400 (20) 660 (22) 1020 (34) 1200 (40) 1200 (30) 1200 (30)
480 (24) 1200 (40) 1500 (50) 1520 (38) 1520 (38)
560 (28) 1500 (50)
640 (32)
720 (36)
Pitch of mounting holes F 20 30 30 30 40 40
E 10 15 15 15 20 20
Standard range incl. 545 7 8 9 10 10
of E(") under 15.5 22 23 24 30 30
Maximum length(®) 1480 1500 1980 3 000 2960 2960
(1980) (3 .000) (3960) (4 000) (4 000)
Model number | MX 45:--/HP MX 55---/HP MX 65---/HP
Item LRX45---/HP LRX55---/HP LRX65---/HP LRX85---/HP
840 (16) 840 (14) 1500 (20) 1620 (18)
1050 (20) 1200 (20) 1950 (26) 1980 (22)
Standard length L(n) 1260 (24) 1560 (26) 3000 (40) 2 340 (26)
1470 (28) 1920 (32) 2700 (30)
1995 (38) 3000 (50)
Pitch of mounting holes F 52.5 60 75 90
E 26.25 30 37.5 45
Standard range incl. 12.5 15 17 23
of E(") under 38.75 45 54.5 68
Maximum length (%) 2 940 3 000 3 000 2970
(3 990) (3 960) (3 900)

Notes(") : Not applicable to the track rail with female threads for bellows (supplemental code “/J”).
() : Track rails with the maximum lengths shown in parentheses can also be manufactured. Consult LK@ for further information.
Remarks 1 : The above table shows representative model numbers but is applicable to all models of the same size.
2 : For the model code of track rail of interchangeable specification, indicate “LRX" regardless of the slide unit type to be combined.

Table 2.4 Standard and maximum lengths of Stainless steel track rail (Half pitch of track rail mounting holes specification /HP) unit: mm

Table 2.2 Standard and maximum lengths of stainless steel track rail unit : mm
Model number MX 12---SL MX 15---SL MX 20---SL MX 25---SL MX 30---SL
Item LRXD10---SL LRX12---SL LRX15---SL LRX20---SL LRX25---SL LRX30---SL
50 ( 2) 80 ( 2) 180 ( 3) 240 ( 4) 240 ( 4) 480 ( 6)
100 ( 4) 160 ( 4) 240 ( 4) 480 ( 8) 480 ( 8) 640 ( 8)
150 ( 6) 240 ( 6) 360 ( 6) 660 (11) 660 (11) 800 (10)
200 ( 8) 320 ( 8) 480 ( 8) 840 (14) 840 (14) 1040 (13)
250 (10) 400 (10) 660 (11)
Standard length L(n) 300 (12 480 (12)
350 (14) 560 (14)
400 (16) 640 (16)
450 (18) 720 (18)
500 (20)
Pitch of mounting holes F 25 40 60 60 60 80
E 12.5 20 30 30 30 40
Standard range incl. 5) 525) 7 8 9 10
of E(") under 17.5 25.5 37 38 39 50
Maximum length(2) 850 1 000 1200 1200 1200 1200
(1 .000) (1 480) (1980) (1.980) (1980) (2 000)

Notes (") : Not applicable to the track rail with female threads for bellows (supplemental code “/J”).

(®) : Track rails with the maximum lengths shown in parentheses can also be manufactured. Consult TICO for further information.

Remarks 1 : For half pitch of track rail mounting holes (supplemental code “/HP"), refer to Table 2.4.

2 : For the model code of track rail of interchangeable specification, indicate "LRX" regardless of the slide unit type to be combined.
3 : The above table shows representative model numbers but is applicable to all models of the same size.

I-153

Model number | MX 12:-:SL/HP | MX 15:--SL/HP | MX 20---SL/HP | MX 25---:SL/HP | MX 30---SL/HP
Item LRX12:--SL/HP | LRX15::-SL/HP | LRX20---SL/HP | LRX25---:SL/HP | LRX30:---SL/HP
80 ( 4) 180 ( 6) 240 ( 8) 480 (16) 480 (12)
160 ( 8) 240 ( 8) 480 (16) 660 (22) 640 (16)
240 (12) 360 (12) 660 (22) 840 (28) 800 (20)
320 (16) 480 (16) 840 (28) 1040 (26)
Standard length  L(n) 400 (20) 660 (22)
480 (24)
560 (28)
640 (32)
720 (36)
Pitch of mounting holes F 20 30 30 30 40
E 10 15 15 15 20
Standard range incl. 5.5 7 8 9 10
of E(") under 15.5 22 23 24 30
o D ) 1000 1200 1200 1200 1200
(1 480) (1980) (1980) (1980) (2 000)

Notes (") : Not applicable to the track rail with female threads for bellows (supplemental code “/J”).
(@) : Track rails with the maximum lengths shown in parentheses can also be manufactured. Consult II0 for further

information.

Remarks 1 : The above table shows representative model numbers but is applicable to all models of the same size.
2 : For the model code of track rail of interchangeable specification, indicate “LRX" regardless of the slide unit type

to be combined.

1N=0.102kgf=0.2248lbs.

1mm=0.03937inch

I-154



I

—Preload amount—

0 Preload amount

Standard

: No symbol Specify this item for an assembled set or a single slide

Light preload ' Th unit.
Medium preload c T2 For applicable preload amount, see Table 3. For details
Heavy preload EAllG of preload amount, see Table 4.
Table 3 Preload amount
Item Preload
Symbol amount Application
Preload type N
Standard (No Symbol) 0(") - Very smooth motion
- Minimum vibration
Light preload Ti 0.02 ¢, - Load is evenly balancedLoad is evenly balanced
- Smooth and precise motion
Medium preload T, Q5@ | - ECmulEen
0 - Medium overhung load
- Vibration and / or shocks
Heavy preload Ts 0.08 C, - Large overhung load
- Heavy cutting

Note(") : Zero or minimal amount of preload.
Remark : C, means the basic static load rating.

Table 4 Applicable preload

Size

Preload class and code

Standard
(No symbol)

Light preload
(T1)

Medium preload
(T2)

Heavy preload
(T3)

10

12

15

20

25

30

35

45

55

65

85

100

O|O|0|O|0|0|0|0|0|0|0|O

O|0|0|0|0|0[0|0|0|0|0|O

O|0]0|O|O0|0|0[0|0|0|O

O|0]0|O|O|0|0|0|0|0|0

Remark : The mark [ indicates that interchangeable specification is available.

I-1565

—Accuracy class —

()

@ Accuracy class

High = [ml Super precision class (SP) and Ultra precision class
Precision 5 [P (UP) are applicable to Non-interchangeable products
Super precision : SP only. In the interchangeable specification, please com-
Ultra precision T UP bine the same accuracy codes on both slide unit and
track rail.
For detail of accuracy , see Table 5.
Applicable sizes are shown in Table 6.
Table 5 Accuracy
40
o_ 0D o .
£
= ;] . W‘y’/
£
2 20
% / il Prec\siclm )
LA e
£ 10 / g super precision (SP)
| — Ultra precision_(UP)
/
Bl s
unit : mm € 500 1000 1500 2000 2500 3000
Classfcation(symbol) | High | Precision | Super precision |Ultra precision Length of track rail L mm
Item (H) P) (SP) (UP)
Dim. H tolerance +0.040 | *£0.020 | +=0.010 | *=0.008 Fig. 1 Parallelism in operation
Dim. N tolerance +0.050 | £0.025 | £0.015 | *0.010
2}% variation of 0015 | 0.007 | 0.005 | 0.003
?\}r(?)' paat et 0.020 | 0010 | 0.007 | 0.003
Dim. variation of H
for multiple assem- 0.035 0.025 - -
bled sets(?)
Parallelism in oper- :
ation of Cto A oo g .
Parallelism in oper- See Fig. 1.

ation of D to B

Notes (") : It means the size variation between slide units mounted on
the same track rail.

(3) : Applicable to the interchangeable specification.

Table 6 Accuracy class and size

Size

Accuracy class

High

Precision

(P)

Super precision
(SP)

Ultra precision
(UP)

10

12

15

20

25

30

35

45

55

65

85

100

o|o|o|olo|o|ojo|o|o|o|o| T

O|0|0|0|0|0|0|0|0|0|0|O

O|O|0|0|0|0|0|0|0]|0|0|O

O|0|O|0|0|0|0|0|0|O|0|0

Remark : The mark [___] indicates that interchangeable specification is available.

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch I-156



I I

—Interchangeahle specification - Special specification— —Special specification—
e Table 7.3 Special specifications (Interchangeable specifition, assembled set)
@ Interchangeable Sp&CIflcalIOH Interchangeable 181 Spedfy this code for the interchangeable specification G
182 products. Assemble track rails and slide units with the Optional specification SIEAZTETE,
same interchangeable code. code 10 12 1® 20 25 30 35 45 55 65 85 | 100
Non-Interchangeable  : No symbol For applicable models and sizes, see Table 1.1 and 1.2. Opposite reference surfaces arrangement /D — O O O @) O O O O @) = =
Specified rail mounting hole positions /E = (@) @) @) O @) O @) O O — -
@ special SPEGi'ication /A, /D, /E, /F, /GE, /HP, /T, /JO, For applicable special specifications, see Table 7.1, CE(Es for.rall mo.untln.g holes - s = O o © © © © © © © = =
/LO, /LFO, /MA, /MN, /N, /PS, 7.2,7.3, 7.4. When several special specifications are Changed pitch of slide unit middle mounting holes() | /GE ~ | X101 0]J]O0 OO0 0 ]0 |~ ]|~
/Q, /RCO, /T, JUR, NO, WO, combined, see Table 8. For details of special specifi- Half pitch of track rail mounting holes lalis - 1019019101010 ]10 1010 =]~
YO, 120 cations, see page II-28. Female threads for bellows (%) JA@) = X O O O O O O O O — —
Black chrome surface treatment /LO — O O O O O O O O O — -
Fluorine black chrome surface treatment /LFO = O O O O O O O O O — —
Table 7.1 Special specifications (Interchangeable specification, Single slide units) With track rail mounting bolts(*) b - 101010101010 101010 1~ ]|~
: Without track rail mounting bolts () /MN = O O O @) O O O O O — —
Optional specification Supplemental Size No end seal () N —|ololololololo [ x| x|[=]-<-
code 10 12 15 20 25 | 30 35 | 45 55 65 | 85 | 100 C-Lube plates(®) /Q — O O o O O O O O e} _ _
Changed pitch of slide unit middle mounting holes (") /GE = X @) O O @) O O O ©) - - Butt-jointing interchangeable track rail /T = O O O O O O O O O — —
Female threads for bellows (%) O - X @) O O O O O O @) - - Double end seals NO - O O O O O O O O O - -
No end seal () /N - 1010|100 |00 |0 | X | X | = | = Specified grease(*) /YO -lojJo]Jo]J]o]J]o]Jolo|lo]o]| -1 -
C-Lube plates(*) /Q - O @) O @) @) O O O O - - Scrapers /720 _ ‘ e) O O e) o) 9) O O 9) _ _
Double end seals NO | = 101010101010 1010101 = | - Notes(") : Applicable to MX, MXG, MXH20, MXHG20, LRX, LRXG, LRXH20, and LRXHG20 (Flange types).
Scrapers /20 = O O O O O S S S) O = = (® : Not applicable to stainless steel mode.
Notes(") : Applicable to MX, MXG, MXH20, MXHG20, LRX, LRXG, LRXH20, and LRXHG20. (Flange types). () : Applicable to MX series
() : Not applicable to stainless steel model. (%) : Applicable to LRX series
(%) : Not applicable to low section frange and block types. (8) : Not applicable to low section frange and block types.
(*) : Applicable to LRX series
Table 7.2 Special specifications (Interchangeable specification, track rail) Table 7.4 Special specifications (Non interchangeable specification)
. L Supplemental Size . - Supplemental Size
Optional specification e 10 | 12 | 15 | 20 | 25 | 30 | 35 | 45 | 55 | 65 | 85 | 100 opflonal speciestion code | 10 | 12 | 15 | 20 | 25 | 30 | 35 | 45 | 55 | 65 | 85 | 100
Specified rail mounting hole positions /E - |]O|lO]J]O|O|O]O| O] O] O| - = Butt-jointing track rails /A ©O 1010010 ]0]0]0]0]0]0]0
Caps for rail mounting holes /F _ O O O O O O O O O — — Opposite reference surfaces arrangement /D @) (@) @) O O @) O @) O O O O
Half pitch of track rail mounting holes /HP — O @) @) @) @) O @) @) @) — — Specified rail mounting hole positions /E O O @) O O O O @) O O O O
Female threads for bellows (") /O = x| O] O] O]O]O]O| O] O] = = Caps for rail mounting holes F X10]19010]0]0]0]0]0]0]0]O0
Bl dreme SUrEes iEEime LO _ 0O 0O 0O o) 0O 0O 0O 0O o) _ _ Changed pitch of slide unit middle mounting holes (') /GE X X O O O O O O O O X O
Without track rail mounting bolts /MN _ O O O O O O O O O — — Half pitch of track rail mounting holes /HP X O O O O O O O O O O X
Butt-jointing interchangeable track rail /T - O|lo|]O]O|O|O|O]| O] O = = Inspection sheet /1 ©10]010]10]0]O0 ©10]010 0
Note() : Not applicable to stainless steel model. Female threads for bellows NO X | X 1O 10 ]O0]O0]10]1010]0]O0]X
Black chrome surface treatment /LO X O O O O O O O O O X X
Fluorine black chrome surface treatment /LFO X O O O O O O O O O X X
With track rail mounting bolts (?) /MA X O O O O O O O O O X X
Without track rail mounting bolts (°) /MN O O O O O O O O O O O O
No end seal () /N O O O O O O O O X X X X
Rail cover plate for track rail (3) /PS X X X X X X O O O X X X
C-Lube plates(®) /Q O O O O O O O O O @) O X
C-Wiper (®) (5) /RCO X X X O O O O @) O O X X
Inner seal (?) /UR X X X O O @) O O O O X X
Double end seals NO — O O O O O O O O O O O
Matched sets to be used as an assembled group | /WO @) O @) O O O O O O O X X
Specified grease (°) YO O O O O O O O O O O O O
Scrapers 120 = O O O @) O O O O O O O

Notes (") : Applicable to MX, MXG, MXH20, MXHG20, LRX, LRXG, LRXH20, and LRXHG20 (Flange types).
(3 : Applicable to MX series
(®) : Applicable to LRX series
(*) : Not applicable to low section frange and block types.
(®) : /RC includes /UR and /Z as standard.

1N=0.102kgf=0.2248lbs.
o-157 1mm=0.03937inch I-158



I

—Special specification—

Table 5 Combination of special specifications

—Special

specification—

I

Table 10.1 Female threads for bellow mounting (For single slide unit /J, For assembled set /J /JJ)

D|O .
E|l-|— Size : 15, 20, 25, 30 ©)
FIO|O|O & % 2l fixdepnty b P xaer Grease nipple(') —1 6
GE|0|0]|0]|0O - m” S )
HP|-[O[-|O]0O — g R e e G
1/ o[o]oJolo]o i |’{; ; =) .
J|olo]ololo]-]0 T & 7 5 xi:; j
L|Oo|[o]o]o]ololo]0o h ) b :
LFIO|O|O|O|O|O|O|O| = D}~ s D}~ s
MAIO|O|O|O|O|O|]O|]O|0O]|0O 2—M,xdepth 2—M,xdepth
MN O O|IO|IO|O|O|O0O|O|O|O]| - 8 =
N(OIO|O|-10]O0|O0|-]10]0]01|0 Flange type Block type,
psl-]olol=Tololo - =T=1Tol- Compact Block type )
unit : mm
a SURSTRSTRSTRSTRON il ESTUON el EOXUOTHS: Slide unit Track rail
RTC 8 8 8 8 8 ° - g g 8 SToT= - Model number a, b, b, |Mxdepth| L.® H, a, a, | M,xdepth
MXC 15 LRXC 15 67
S | OO OO O RO OV OIOL = e | = i MX 15 LRX 15 10.5 10.5 83 1
vV OlO|O|0O|O|0O|0O|®@|O|O0|O0|O0|—-]0 O O MXG 15 LRXG 15 99
W OIO|-|O|OlO0O]|O|lO0]|O0|O0|O0|0|0 |0 Ol-10|0 MXDC 15 LRXDC 15 67
Y O|O|O|O|O|O|O|O|O0O|O0|=-|10|0|0 - 10| =-]0]0 MXD 15 LRXD 15 14.5 26 M3X%6 83 5 4 8 M3 X6
Z|O|O0O]|O|0|O0|O0|0O|@|O|O|O0|O|—|- -10|0|@|O MXDG 15 LRXDG 15 4 99
A[D|E|F|GE/HP| I |J [ L |LFIMAIMN| N [PS|Q|RC| T |UR| V |W MXSC 15 | LRXSC 15 67
Remarks 1 : The mark — indicates that this combination cannot be made. M§§G 12 tgigG :g 19 gg 1
2 : If the @ marks are required, please consult IXK0O. 5 TLRXC 200 81
3 : If a combination of special specifications is required, indicate the supplemental codes in alphabetical order. MXC 20()
MX 20 | LRX 20(® 12 135 101 5
MXG 20(®) | LRXG 20(%) ’ 121
3 —
Table 9 Pitch of slide unit middle mounting holes MQSC gg() LRXDC 20 1;?
(Supplemental code /GE) MXD 20 LRXD 20 101
MXDG 20 | LRXDG 20 16 36 M3X6 51 6 s 10 M48
L MXDL 20 = 4 143
MXSC 20 LRXSC 20 81
L MXS 20 LRXS 20 12 101 5
MXSG 20 LRXSG 20 121
MXSL 20 = 143
< © MXC 25 LRXC 25 89
MX 25 LRX 25 113
MXG 25 | LRXG 25 155 s 128 4
@ < © @S MXL 25 = 152
MXDC 25 LRXDC 25 89
MXD 25 LRXD 25 113
@ @ MXDG 25 LRXDG 25 19.5 40 M3 X6 128 8 6 12 M4 X8
MXDL 25 = 4 152
UGl 2 (AT MXSC 25 LRXSC 25 89
MXS 25 LRXS 25 113
Size L, i MXSG 25 | LRXSG 25 155 128 4
15 30 26 MXSL 25 = 152
20 40 35 MXC 30 LRXC 30 100
MX 30 LRX 30 128
ig g: 22 MXG 30 | LRXG 30 185 20 149 4.8
MXL 30 = 177
22 gs 2(2) MXDC 30 | LRXDC 30 100
MXD 30 LRXD 30 128
55 95 70 MXDG 30 LRXDG 30 21.5 50 M3X%6 149 7.8 7 14 M4 X8
65 110 82 MXDL 30 = 5 177
100 200 150 MXSC 30 LRXSC 30 100
MXS 30 LRXS 30 185 128 48
MXSG 30 LRXSG 30 ’ 149 ’
MXSL 30 = 177
Notes (") : The specification and mounting position of grease nipple are different from those of standard products. Grease nipple A-M4 is at-
tached to size 30. For grease nipple specification, see Table 13.1 on page I-10.
(®) : The values for the slide unit with female threads for bellow mounting at the both ends.
(®) : MXHC20, MXH20, MXHG20, MXHL20, LRXHC20, LRXH20, and LRXHG20 are also applied.
Remarks 1 : Also applicable to same size of stainless steel products.
2 : For the size 15 and 20 of flange type and compact block type, the dimension marked 3% is higher than H dimension. For details,
consult IIO for future information.
1N=0.102kgf=0.2248lbs.
I-159 1mm=0.03937inch I-160



I I

—Special specification— —Special specification—

Table 10.2 Female threads for bellows (For single slide unit /J, For assembled set /J /JJ) Table 10.3 Female threads for bellow mounting (For single slide unit /J, For assembled set /J /JJ)

Size : 35, 45, 55, 65, 85 , 5 a-Mxdepth b, b, 4—M xdepth
b, b | 4—Mxdepth b, b, 4—M xdepth n B 4~Mxdepth b, : b
b, b, b b, @) : - ! |
5 s —~ - “”I f >) 9
o -3 @ me » [ @ = L_I? py <I . L3 K o J 7
D R 5 - @ R = ’:u L@ d n% {t m l‘ ]
3 ) ; ' ' ; e . B g
o) S ol S £ 2—M,xdepth 2—M,xdepth 2-M,xdepth 2 2—M,xdepth
& 2—M,xdepth & 2—M,xdepth Size : 30 Size : 35 Size : 45 Size : 55
Low section flange type
Flange type Block type,
Compact Block type 4=M xdepth b, 4—M,xdepth
unit : mm b b, 4-M,xdepth by be —_— b
- - - b, b, 2—M xdepth — i 2 ‘ ‘
Slide unit Track rail ) e
Model number 4 | 1'$D
a, a, b, b, b, b, |M,Xdepth| L,() a, a, |M,Xdepth < 3 > )|
MXC 35 | LRXC 35 99 _|? * 3 'L B g9 -
MX 35 | LRX 35 | . 30 20 131 — " ;
MXG 35 LRXG 35 159 @'@J n o1 xdepth
MXL 35 _ 191 2—M,Xdepth 2—M,xdeptl -M,Xdept 2—M,xdepth
MXDC 35 LRXDC 35 16 40 60 M3X 6 99 8 16 Mdx 8 Size : 30 Size : 35 Size : 45 Size : 55
MXD 35 LRXD 35 13 131 Low section block type
MXDG 35 LRXDG 35 15 5 159
MXDL 35 - 191 Grease nipple @) ()
MXS 35 — . 131 (A-M4) \ . :
MXSG 35 = 159 G |
MXC 45 LRXC 45 123 . @ )
MX 45 | LRX 45 . a5 - 163 3 (E = [ ? i ° ° i
MXG 45 LRXG 45 203
MXL 45 = 243 - -
MXDC 45 | LRXDC 45 123 ize: 30 26 : 35.45. 95
21 74 M4 X 1 1 M5 X1 it :
MXD 45 LRXD 45 17 50 8 163 0 ° Sily unit : mm
MXDG 45 LRXDG 45 203 Slide unit Track rail
18 6 Model number
MXDL 45 = 243 a,(") a, b, b, b, b, |M,Xdepth| L,(® H, a, a, |M,xdepth
MXS 45 = 7 163 MXN 30 128
MXSG 45 - 203 MXNG 30 20 149
MXC 55 LRXC 55 145 MXNL 30 177
MX 55 LRX 55 . 40 26 193 m 14.5 - 50 - = M3 X6 128 0.8 7 14 M4 X 8
MXG 55 LRXG 55 247 MXNSG 30 5 149
MXL 55 — 301 MXNSL 30 177
LRXD 145
MXDC 59 C 55 27 60 88 | M4x 8 10 24 | M5x10 _MXN_ 35 | 181
MXD 55 LRXD 55 17 193 MXNG 35 30 20 159
MXDG 55 LRXDG 55 247 MXNL 35 191
MXDL 55 - e 6 301 NS 5| 2 16 40 60 | M3x6 - 8 16 | M4x 8
MXS 55 = P 193 MXNSG 35 15 g 159
MXSG 55 = 247 MXNSL 35 191
MXC 65 191 MXN 45 163
LRXC 65 192 MXNG 45 85 23 203
MX 65 255 MXNL 45 243
LRX 65 475 31 256 m 1 21 50 74 M4 X8 163 = 10 19 M5X%X10
MXG 65 319 MXNSG 45 18 6 203
LRXG 65 320 MXNSL 45 243
- 391
MXL 65 87 | 37 75 108 | M5x10 14 28 | M6x12 _MXN 55 | 193
MXDC 65 191 MXNG 55 40 26 247
LRXDC 65 192 MXNL 55 301
X — X
MXD 65 255 MXNS 55 0 27 60 88 M4 X8 193 10 24 M5X%X10
LRXD 65 25.5 9 256 MXNSG 55 20 6 247
MXDG 65 319 MXNSL 55 301
LRXDG 65 320 Notes (") : Values a, are the dimension between C-surface (upper surface of slide unit) and the center of female thread.
MXDL 65 - 391 (2) : The values for the slide unit with female threads for bellow mounting at the both ends.
— LRX 85 334 Remark : The dimension marked 3¢ is higher than H dimension. For details, consult IO for future information.
- LRXG 85 15 45 62.5 920 BIES 140 M6X10 406 14.5 38 M6X12
= LRXL 85 505

Note (") : The values for the slide unit with female threads for bellow mounting at the both ends.

I-161

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch

I-162




I I

—Special specification— —Special specification—
Table 11.1 Slide unit with C-Lube plates (Supplemental code /Q) Table 12.1 Slide unit with C-Wipers Table 13.1 Slide unit with double end seals Table 13.2 Slide unit with double end seals
Size - 10.12. 15. 20. 25. 30 (Supplemental code /RC /RCC) (Supplemental code /V /VV) (Supplemental code /V /VV)
Size : 20, 25, 30 Size : 12, 15, 20, 25, 30 Size : 35, 45, 55, 65, 85, 100
(L,
C-Lube plate (L, C-Lube plate () @) | End seal (L) End seal
ow ) . End seal | @ ‘ End seal —\ e
-Wiper C-Wiper
’ / i —y i
K ) @] )
b [T @ | T TldE = =
He 1H
unit : mm unit : mm unit : mm
Model number L, L, Wl 2 (LR Model number L, L, Model number L,
LRXD 10---SL 43.5 = -
Model number L L MXC 12 49 52 MXC 35 LRXC 35 101
LRXC 12 47 50 MXC 20 30 a0 = LRXC 12 44 46 MX 35 LRX 35 133
LRX 12 57 60 5T o o0 0 MX 12 = 58 61 MXG 35 LRXG 35 161
LRXG 12 68 71 e o 120 e — LRX 12 54 57 MXL 35 = 193
LRXC 15 63 64 MXL 20 e 53 MXG 12 = 70 72 MXC 45 LRXC 45 127
LRX 15 79 80 MXC 25 89 99 = LRXG 12 65 67 MX 45 LRX 45 167
LRXG 15 95 96 ™ BE 113 123 MXC 15 LRXC 15 58 60 MXG 45 LRXG 45 207
LRXC 20 76 84 MXG 25 128 138 MX 15 LRX 15 74 76 MXL 45 - 247
LRX 20 96 104 MXL 25 152 162 MXG 15 LRXG 15 90 92 MXC 55 LRXC 55 149
LRXG 20 116 124 MXC 30 100 13 MXC 20 LRXC 20 73 83 MX 55 LRX 55 197
LRXC 25 85 93 ™ 30 141 MX 20 LRX 20 93 103 MXG 55 LRXG 55 251
LRX 25 109 117 MXN 30 128 138 MXG 20 LRXG 20 113 123 MXL 55 - 305
LRXG 25 124 132 Ve h 6 MXL 20 = 135 145 MXC 65 = 192
LRXC 30 96 107 MXNG 30 149 159 MXC 25 LRXC 25 83 92 = LRXC 65 193
LRX 30 124 135 MXL 30 190 MX 25 LRX 25 107 116 MX 65 - 256
LRXG 30 145 156 MXNL 30 177 187 MXG 25 LRXG 25 122 131 — LRX 65 257
Remarks 1 : The values for the slide unit with C-Lube plates at both R ws 1:Th I for the slid it with G-Wi + both ond MXL 25 = 146 155 MXG 65 - 320
ends. emarks : e values for the slide unit with C-Wipers at both ends. MXC 30 LRXC 30 93 106 — LRXG 65 321
2 : The table shows representative model numbers only 2 : The table shows representative model numbers only MX 30 LRX 30 134 MXL 65 — 392
; ; ; ; and is also applicable to all models in the same size.
and is also applicable to all models in the same size. MXN 30 — 121 131 — LRX 85 338
MXG 30 LRXG 30 142 155 = LRXG 85 410
Table 11.2 Slide unit with C-Lube plates (Supplemental code /Q)  Table 12.2 Slide unit with C-Wipers L Bl - o2 - CCa 509
P (Supplemental code /RC /RCC) MXL 30 - 170 183 - LRXG 100 376
TUT T T e Size - 35. 45. 55 65 MXNL 30 — 180 Remarks 1 : The values for the slide unit with double end seals at
C-Lubeplate (3] C-Lube plate o Remarks 1 : The values for the slide unit with double end seals at both ends. .
C-Wiper @) C-Wiper both ends. 2 : The table shows representative model numbers only
— — ) 2 : The table shows representative model numbers only and is also applicable to all models in the same size.
€ |’ ’| ® o] o[ and is also applicable to all models in the same size.
1] b d o
unit : mm .
Model number 1L unit : mm
LRXC 35 103 Model number L,
LRX 35 135 1b16 5 128
LRXG 35 163 pib & 199
LRXC 45 127 MXCESS LES
LRX 45 167 b Q2 2k
LRXG 45 207 Lbi6 4 [
LRXC 55 149 MX_ 45 189
LRX 55 197 MXG 45 229
LRXG 55 251 MXL 45 269
LRXC 65 198 MXC 55 172
LRX 65 262 MX 55 220
LRXG 65 326 MXG 55 274
LRX 85 341 MXL 55 328
LRXG 85 413 MXC 65 223
LRXL 85 512 MX 65 287
Remarks 1 : The values for the slide unit with C-Lube plates at both MXG 65 351
ends. MXL 65 423
2 : The table shows representative model numbers only Remarks 1 : The values for the slide unit with C-Wipers at both ends.
and is also applicable to all models in the same size. 2 : The table shows representative model numbers only

and is also applicable to all models in the same size.

1N=0.102kgf=0.2248lbs.
I-163 1mm=0.03937inch I-164



I

—Special specification—

Table 14.1 Slide unit with scrapers
(Supplemental code /Z, /Z2)

Size : 12, 15, 20, 25, 30

()

Table 14.2 Slide unit with scrapers
(Supplemental code /Z, /Z2)

Size : 35, 45, 55, 65, 85, 100

S . @) S Scraper Scraper
@]
L 1=
unit : mm unit : mm
Model number i, L, Model number i,
MXC 12 = 50 53 MXC 35 LRXC 35 103
o LRXC 12 45 48 MX 35 LRX 35 135
MX 12 = 60 63 MXG 35 LRXG 35 163
= LRX 12 56 58 MXL 35 = 195
MXG 12 = 71 74 MXC 45 LRXC 45 129
o LRXG 12 66 69 MX 45 LRX 45 169
MXC 15 LRXC 15 60 61 MXG 45 LRXG 45 209
MX 15 LRX 15 76 77 MXL 45 = 249
MXG 15 LRXG 15 92 93 MXC 55 LRXC 55 151
MXC 20 LRXC 20 74 83 MX 55 LRX 55 199
MX 20 LRX 20 94 103 MXG 55 LRXG 55 253
MXG 20 LRXG 20 114 123 MXL 55 = 307
MXL 20 = 137 146 MXC 65 LRXC 65 194
MXC 25 LRXC 25 85 93 MX 65 LRX 65 258
MX 25 LRX 25 109 117 MXG 65 LRXG 65 322
MXG 25 LRXG 25 124 132 MXL 65 = 394
MXL 25 = 148 156 = LRX 85 339
MXC 30 LRXC 30 96 107 = LRXG 85 411
MX 30 LRX 30 124 135 = LRXL 85 510
MXN 30 = 132 = LRXG 100 378
MXG 30 LRXG 30 145 156 Remarks 1 : The values are the slide unit lengths with scrapers at
MXNG 30 = 153 both ends.
MXL 30 — 184 2 : The table shows representative model numbers and is
MXNL 30 — 173 181 also applicable to all models in the same size.
Remarks 1 : The values are the slide unit lengths with scrapers at

both ends.

2 : The table shows representative model numbers and is
also applicable to all models in the same size.

-1

65

Lubrication

Lithium-soap base grease (ALVANIA grease EP 2: SHELL) is
pre-packed in MX and LRX series slide units. In MX, C-Lube
a component part is placed in the ball recirculation path,

thereby extending the re-lubrication (greasing) interval time
and reducing maintenance work for a long period. MX and
LRX series are provided with grease nipple shown in Table
15. Supply nozzles matching the size of grease nipple are

()

Casing

1.5
. 1605

also available. For these parts for lubrication, refer to Table

14 and 15.1 on page II-22, and Table 16 on page II-23, and

consult 2O for further information.

Table 15 Parts for lubrication

End seal

End plate

Fig. 2 Oil hole specification of LRXD10:---SL

Size Grease nipple(") Applicable supply nozzle Nominal size of female threads for piping
10 Oil hole Miniature greaser -
12 A-M3 A-5120V  A-5240V -
15(%) A-M4 B-5120V  B-5240V
20(3) A-8120V M4
25(2) B-M4 B-8120V

3) (4 -
30(®) (4) B-M6 M6
35(%) JIS type 1
45(5)
55 JIS type 2 Grease gun available on the market PT1/8
65
85
100 A-PT1/4 PT1/4
Notes (") : See Table 13.1, 13.2 on Page II-10 for specifications of grease nipples.

®
)
“)
)

©

: The grease nipple type is A-M3 when female threads for bellows (supplemental code of “/J") are specified.

: The grease nipple type is A-M4 when female threads for bellows (supplemental code of “/J") are specified.

: The grease nipple type of the MXNSO slide unit is B-M4. The grease nipple type is A-M4 when female threads for bellows (supple-
mental code of “/J") are specified.

: The grease nipple mounting screw of the MXNS5 slide unit is made smaller along the movement of the slide unit than in the traverse
direction. Consult IXO when mounting the grease nipple along the movement of the slide unit.

: The grease nipple type of the MXN45 slide unit is JIS type 1.

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch

I-166



K0
Dust Protection ————

MX and LRX series are protected from dust by special rub-
ber seals. But, if large amount of fine contaminants are
present, or if large particles of foreign matters such as dust
or chips may fall on the track rail, it is recommended to pro-
vide protective covers such as bellows for the entire linear
motion mechanism. Bellows to match the dimensions of
MX and LRX series are optionally available. They are easy
to mount and highly effective for dust protection. If required,
refer to page II-25 and consult IXK0O.

In otherhands, rail cover sheet to cover mounting holes all
over the track rail or track rail for mounting from bottom can
be prepared also for dust protection. Please consult IO
it required.

Fixing bolt for
End cover end cover

Rail cover sheet

End cover

Fixing bolt for

end cover \V i

Dedicated track rail

Fig. 3 Rail covver sheet

Slide unit

Femle thread for fixing boit

Track rail

Fig. 4 Track rail for mounting from bottom

I-167

Precautions for Use

©®Mounting surface, reference mounting surface, and general
Dedicated bellows are available to MX and LRX series slide
units. They are easy to be mounted and have a great dust-
proof effect. Consult LICO for further information.

IX0O also provide cover tape (see Fig. 5) to cover the
mounting holes of the track rail and top-mounted track rails
(see Fig. 6) having no mounting holes on their top surfaces.
The reference mounting surface of the track rail is on the
upper side (in the arrow direction) when the IO mark is
normally viewed on the top of the track rail.

Fig. 5 Reference mounting surfaces and general mounting
structure of Linear Way and Linear Roller Way

Reference
mounting
Slide unit surface

@ B
Track rail

O
g@\' 4 zem & @ Py
| £8CD mark @

o] @] [©

\_ &K mark

Fig. 6 Reference mounting surface

®Mounting slide unit

In the slide unit, mounting holes are also prepared on the
middle of slide unit (see Table 16.1 and 16.2) to support any
direction of load and moment in good balance.

It is recommended to fix all mounting holes to have full per-
formance of products.

For mounting slide unit of Compact block type and Low
section block type, insertion depth shown in Table 16.1 and
16.2 is recommended to keep certain fixing strength.
Similarly, the penetration depth of the mounting holes in the
center of the slide unit width should be equal to or less than
the maximum penetration depth in the Table.

Middle mounting hole
of the slide unit

Fig. 7 Middle mounting hole of the slide unit

Table 16.1 Screwing depth of slide unit mounting holes

for Compact block type
Model number Recommended minimum depth
MXS 15 LRXS 15 4.5
MXS 20 LRXS 20 5.5
MXS 25 LRXS 25 7
MXS 30 LRXS 30 9

Remark : The table shows representative model numbers and is also
applicable to all models in the same size.

Table 16.2 Screwing depth of slide unit mounting holes
for Low section block type

Model number Recommended minimum depth
MXNS 30 8
MXNS 35 8.5
MXNS 45 10.5
MXNS 55 14

Remark : The table shows representative model numbers and is also
applicable to all models in the same size of low section
block type.

OCorner radius and shoulder height of reference mounting
surfaces

It is recommended to make a relieved fillet at the corner of

the mating reference mounting surfaces as shown in Fig. 8.

Otherwise, corner radius R is recommended shown in Table

17. Table 17 shows recommended shoulder heights and ra-

dius of the reference mounting surfaces.

Fig. 8 Relieved radius shape of reference mounting surface

I

Table 17 Corner radius and shoulder height of
reference mounting surfaces

R
% <3
= ) L‘<T
< f
%
R
Slide unit Track rail
unit : mm
Slide unit Track rail Relieved radius
Size Shoulder height | Shoulder height
h, h, R (max.)
10 4 1 0.3
12 4 2 0.5
15 4 3 0.5
20 5 4 0.5
25 6 5 1
30 8 5.5 1
35 8 5.5 1
45 8 7 1.5
55 10 8 1.5
65 10 10 1.5
2.5
(Slide unit)
85 14 14 15
(Track rail)
100 14 13 2.5

OTightening torque of mounting bolts

The standard torque values for MX and LRX series mounting
bolts are shown in Tables 18. When machines or equipment
are subjected to severe vibration, shock, large fluctuating
load, or moment load, the bolts should be tightened with a
torque 1.2 to 1.5 times higher than the standard torque val-
ues shown.

When the mating member material is cast iron or aluminum,
tightening torque should be lowered in accordance with the
strength characteristics of the material.

Table 18 Tightening torque of mounting bolts

Tightening torque N-m
Bolt size
Carbon steel bolt | Stainless steel bolt

M 2.6%X0.45 = 0.70
M 3 X0.5 1.7 1.1
M 4 X0.7 4.0 2.5
M 5 X0.8 7.9 5.0
M6 X1 13.3 8.5
M 8 Xx1.25 32.0 20.4
M10 X1.5 62.7 =
M12 X1.75 108 -
M14 X2 172 =
M16 X2 263 =
M20 Xx2.5 512 =
M24 X3 882 =
M30 X3.5 1750 =

Remarks 1 : The recommended tightening torque is for strength divi-
sion 12.9 or property division A2-70.
2 : For the flange type slide units (MXC, MX, MXG, MXL,
LRXC, LRX, and LRXG) of Sizes 15, 20, 25, 30, and 35,
recommended tightening torques of mounting screws in
the center mounting holes are 70 to 80% of the values
in the Table.

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch I-168




LK T
IJCOC-Lube Linear Roller Way Super MX

Flange type mounting from top/bottom

MX ¢ LRX
\
Shape (L) (L) (L)
) €) @)
3—M, L L L
1% Grease - - -
. VVVV Grease  w, | W W nipple © s 2—M, (MXC20, LRXC20) L, L, 9—M,
25130 .| s nipple ) @ | | 6 T1° 6—M,
Size & / o o < q, 4—M, (MX12, MXG12, L2 L2
35|45|55|65|85(100 . e - o o | L LRX12, LRXG12) | | i .
= | X) @ Ly T : © © ‘LLH v—i @ i ) o _g_ o i
| [ | | = =
T ‘TT‘ T ! y ijf‘ \ | 1 . ‘ D \ fom D . oL~ \ a— [
T N w = N w 4, MXC, MXHC20 MX, MXH20, MXG MXL, MXHL20
£ F LRXC, LRXHC20 LRX, LRXH20, LRXG E
MXHC 20, LRXHC 20 L)
MXC12, LRXC12 MXH 20, LRXH 20
MX 12, LRX 12 MXHG20, LRXHG 20
MXG12, LRXC12 Models mounting from bottom only ()
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (*)
Model number 5] assembly mm mm for track rail (®) | load rating(*) | load rating (+)
2 mm
LRX £ | Slide | Track . c C, T, T, T,
MX (Non C-Lube) g uknlt rail H H, N w, | W, | W, | L i, L, IL, d, M, H, | H | H | W | H | d, d, h 15} F | Bolt size Xlength
£ g kg/m N N N-m N-m N-m
MXC 12 Ol o088 40 15.8 | 44 4 250 6 500 49.4 1986 | (486
LRxC12 | O | 37 14.8| 40 3900 6 090 46.3 1383 4183
MX 12 O 50 25.4 | 53 6120 79.1 5398 | 458
e e 0092 | 092 |19 | 3 |14 | 40 |32 |4 || | 3.4 M4 6 |3 - |12 |12 |35 |6 |45 | 20 | 40 M3X12 | 10400 |---ooveoeeeepee Y i
LRX 12 | O 47| o |258] 50 5 890 78.7 13 513
MXG 12 Ol o1s 61 36.6| 64 8120 | 15000 | 114 oo5’ | 633"
LRXG12 (O | 58 35.8 | 61 7710 | 14600 | 111 538 | 5896
MXC 15 LRXC15 | O | 0.13 52| — |24 | 55 7730 | 12000 | 113 4226 | 806
MX 15 LRX 15 |O| 020 | 1.65 | 24 | 4 |16 | 47 |19 | 45| 68| |40 | 71| 44 | M5 7 |35(3 |15(165(45|8 |6 |30 |60 M4x16 11500 | 20000 | 188 438 438
MXG 15 LRXG15 | O | 0.28 84 56 | 87 14900 | 28000 | 263 1282 | 1253
MXC 20(®) | LRXC20®) | O | 0.29 66 | — |316| 74 16100 | 26400 | 341 1388 14339
MX 20 | LRX 20@ | O | 0.44 86 51.6/| 94 ® ® 23400 | 42700 | 550 2252 | L8283
273 | 30 | 5 |215| 63 | 2655 40 - M6 10 |4 |35 |20 (21 |6 |95 |85 30 | 60 M5X20 213 >3
MXG 20(® | LRXG20 | O | 0.61 106 71.6 | 114 30100 | 58900 | 760 4508 | 4588
MXL 20() = - | 080 128 | 70 | 94.1| 137 37200 | 77200 | 996 | L2l | 4210

Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page 1-154.

() : They can be mounted from top side only.

For mounting from bottom side, MXHC20, MXH20, MXHG20, MXHL20, LRXHC20, LRXH20 and LRXHG20 can be used.

(®) : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of MX series,
track rail mounting bolt is not appended.

(*) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (T,, T,, T,) are shown in the
sketches below. The upper values in the T, and 7., columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

(5) : For grease nipple specifications, see Table 15 on page 1-166.

Remark : A mounting thread hole for grease nipple is provided on the left and right end plates respectively.

Example of identification number of assembled set
Model code Size Part code Preload symbol - Class symbol  Interchangeable code - Supplemental code

MX G 15 C2 R360 T+ P S1 /F

O 6 6 0 O 6/ (7 0 (o]
(D) Series (&) Preload amo (8) Interchangeable code
12,15, 20 No symbol | Standard S1 Inferchangeable specification

LRX Flange type mounting from fop/bottom T1 Light preload S2 Interchangeable specification
(@ Number of slide unit (two units) T2 Medium preload No symbol | Non ble specification
C\@ C, T, Ta Heavy preload
PN
‘ ‘ (@ Length of slide [(® Length of track rail (360mm) |l (@ Accuracy cla (9 Special specification |
C Short H High ADEFGEHRILJLLF
No symbol | Standard P Precision MA, MN, N, Q, RC, T, UR, V
G High rigidity long SP Super precision W, Y, Z
L Extra high rigidity long UP Ultra precision

1N=0.102kgf=0.2248lbs.
I-169 1mm=0.03937inch o-170



LK T
IJCOC-Lube Linear Roller Way Super MX

Flange type mounting from top/bottom

MX ¢ LRX
Shape
(L) (L) (L)
w, Grease (5) (i) (IL")
ZV‘ ‘ W, W, nipple () . 6—M, ‘ L: L: 9—M,
Size 12(15(20 i ) } 4 Yy Lj2 L2 /
£S5 S o :
35(45|55|65|85100 : . | i ) P T 7
Jas) @ © ‘LLH i h 11 i i
= | Ll i S =) fom D o= (1] => fo s
L = = | N - ~ i T
= N w 4 MXC MX, MXG MXL
E F LRXC LRX, LRXG E
L()
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (°)
Model number 5] assembly mm mm for track rail(?) | load rating(®) | load rating ()
2 mm
LRX g Slide | Track C c, T, T, T,
MX (Non C-Lubey| & | unit rail H H, N w, | W, | W, | L i, L, IL, d, M, H, | H | H | W | H | d, d, h 15} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
MXC 25 LRXC25 | O | 0.44 74| - | 36 | 83 21600 | 33800 500 | 313 | 318
MX 25 LRX 25 |O| 067 98 60 | 107 32100 | 56300 833 | 5383 | ;3%
3.59 36 | 6 235| 70 | 28.5| 6.5 45 7 M 8 10 | 5 5 23 |245| 7 11 9 | 30 | 60 M6 %25 885 885
MXG 25 LRXG25 | O | 0.84 113 75 | 122 38200 | 70300 | 1040 | 583 | 8§83
MXL 25 - - | 1.08 137 | 70 | 99 | 146 47400 | 92800 | 1370 | 1339 | 1339
- 329 329
MXC 30 LRXC30 | O | 0.78 85 42.4| 95 29200 | 44600 W | L | P
MX 30 LRX 30 |O| 1.20 113 70.4| 123 43400 | 74400 | 1350 | 883 | 883
5.01 42 | 6.5 | 31 90 | 36 9 52 8.5 M10 10 | 65 | 55 | 28 |28 9 14 | 12 | 40 | 80 M8x28 1470 1470
MXG 30 LRXG30 | O | 1.58 134 91.4| 144 53200 | 96700 | 1750 | 4479 | 1470
MXL 30 = - | 2.03 162 | 80 |119.4| 172 65600 | 126000 | 2290 | 13899 | 13899

Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page I-154.

(®) : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of MX series,
track rail mounting bolt is not appended.

(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7, T,, T,) are shown in the
sketches below. The upper values in the T, and 7., columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

(%) : For grease nipple specifications, see Table 15 on page 1-166.

Remark : A mounting thread hole for grease nipple is provided on the left and right end plates respectively.

Example of identification number of assembled set
Model code Size Part code Preload symbol  Class symbol - Interchangeable code ~ Supplemental code

MX G 25 C2 R840 T+ P S1 /F

O 6 ©6 0 © (6 (7 (8 (o
(D) Series (8 Preload amo (8) Interchangeable code
25, 30 No symbol | Standard St Interchangeable specification

LRX Flange type mounting from top/bottom Ti Light preload S2 Interchangeable specification
T2 Medium preload No symbol | Non interchangeable specifcation
a G T, Ts Heavy preload
% ‘ (3) Length of slide (@ Accuracy cla
H EE ﬂ H EE ﬂ c Short H High A D,E FGEHPI J L LF
No symbol | Standard P Precision MA, MN, N, Q, RC, T, UR, V
G High rigidity long SP Super precision W, Y, Z
L Extra high rigidity long UP Ultra precision

1N=0.102kgf=0.2248lbs.
o-171 1mm=0.03937inch o-172



LK T
IJCOC-Lube Linear Roller Way Super MX

Flange type mounting from top/bottom

MX « LRX
\
Shape
(L) (L) (L)
W Grease i i i
2 : 4 (L) L, (L) L, L, (L)
ZV' W, W, nipple () I I

12[15[20[25[30 ] i 3-m, 5, 7 " o-u,
e 55/65|85[100 - ™ o ‘ o -+ g
) © O ¥ 1 ! I [ ! Vi 1 [l K K ] I
) ‘ ] ‘ Y ‘ ol 1e k o[

al
o]
@l

= N w 4 MXC MX, MXG MXL
E F LRXC LRX, LRXG E
L()
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (°)
Model number 5] assembly mm mm for track rail(?) | load rating(®) | load rating ()
2 mm
rx | S| Slide | Track c G, T, T, T,
MX (Non C-Lubey| & | unit rail H H, N w, | W, | W, | L i, L, IL d, M, H, | H | H | W | H | d, d, h 15} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
MXC 35 O 12.7
——————————————————————————————————————————————————— 1.13 92| — | 466 39500 | 60000 | 1300 328 3%
LRXC35 | O 12.5 3950 | 3950
MX 35 O 12.7
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 1.76 124 78.6| 58700 | 100000 | 2170 | 1363 | 1360
LRX 35 O 6.88 48 | 6.5 |33 100 | 41 9 62 12.5 8.5 M10 13 13 7 | 34 | 32 9 14 | 12 |40 80 M 8X%35
MXG 35 O 12.7
——————————————————————————————————————————————————— 2.41 152 106.6| 74200 | 135000 | 2930 | (3449 ad
LRXG 35 O 12.5 13 800 13 800
MXL 35 = - | 3.00 184 | 100 |138.6| 12.7 90800 | 175000 | 3800 | %989 | %989
MXC 45 LRXC45 | O | 2.11 114 | — | 59 64100 | 95600 | 2660 | 1918 | 1910
MX 45 |LRX 45 |O| 3.26 154 99 95400 | 159000 | 4430 | 13439 | 13433
10.8 60 | 8 37.5 | 120 | 50 10 80 17.5 | 10.5 M12 15 16 | 11 45 | 38 | 14 | 20 | 17 |52.5|105 M12X40 5550 5 550
MXG 45 LRXG45 | O| 4.60 194 139 124000 | 223000 | 6200 | 53460 | 29 600
MXL 45 - - | 5.66 234 | 120 |179 151000 | 287000 | 7980 | ,$383 | ,8383
Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page I-154.
() : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of MX series,
track rail mounting bolt is not appended.
(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T,, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.
(%) : For grease nipple specifications, see Table 15 on page 1I-166.
Remark : Three female threaded holes for grease nipple are prepared on each end plate.
Example of identification number of assembled set
Model code Size Part code Preload symbol  Class symbol - Interchangeable code ~ Supplemental code

MX G 35 C2R1200 T2 P S1 /F

O 6 ©6 0 O o (7 (s ] o
() Series (6) Preload amo (8 Interchangeable code
35, 45 No symbol | Standard S1 Interchangeable specification

LRX Flange type mounting from top/bottom T4 Light preload S2 Interchangeable specification
7 : : T2 Medium preload No symbol | Non speciication
c c r T, (9 Number of slide unit (two units) 2L 4
o 0 T3 Heavy preload
@ PN = o
‘ (® Length of slide (5) Length of track rail (120mm) @ A a a (9 Special specification
@ c Short H High A D,EFGEHPIJ L LF
No symbol | Standard P Precision MA, MN, N, PS, Q, RC, T, UR
G High rigidity long SP Super precision VW, Y, Z
L Extra high rigidity long UP Ultra precision

1N=0.102kgf=0.2248lbs.
o-173 1mm=0.03937inch o-174



I I

IJCOC-Lube Linear Roller Way Super MX

MX « LRX

Shape

=~
~IE
=

W Grease L) L, (L)
nipple

T . \ L/2 L2 9-M,
= © Ol ! f i i o @1 i o 5 @]

® p ‘(J e | c ° \\o‘ II i \ II | | }o \ o‘ | j\

~

¢
S
7
S

@l
o]
@

o N w 4 MXC MX, MXG MXL
E F LRXC LRX, LRXG LRXG85, LRXL85, LRXG100 | E
L()
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (%)
Model number 5] assembly mm mm for track rail () |loadrating(®) | load rating (®)
2 mm
LRX S| Slide | Track _ C C, T, T, T,
MX (Non C-Lubey| & | unit rail H H, N w, | W, | W, | L i, L, IL d, M, H, | H | H | H | W | H, | d, | d, h E | F |BoltsizeXlength
£ kg kg/m N N N-m N-m N-m
MXC 55 LRXC 55 (O | 3.49 136 | - | 72 99700 | 149000 | 4830 | (1889 1880
MX 55 LRX 55 |O| 542 184 120 148000 | 248000 | 8040 | 53980 | 59949
141 | 70 | 9 |43.5|140 | 58 | 12 95 20 | 125 | M14 17 | 16 |14 | — | 53| 43 [16 | 23 | 20 | 60 | 120 |  M14x45 0400 10400
MXG 55 LRXG 85 | O | 7.93 238 174 198000 | 359000 | 11700 | 194991 19499
MXL 55 - - | 101 292 | 150 | 228 244000 | 470000 | 15300 | 34788 | 47700
MXC 65 O 180 26.3 4899 | 222399
——————————————————————————————————————————————————— 7.18 = | 9B [t 174000 | 249000 | 9790 |-92.905.)..82.000.
LRXC 65 | O 181 26.6 32200 | 32200
MX 65 O 244 26.3 13800 | 44898
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 115 159 [ LT | AHETD| fgEe -2 BRI
LRX 65 | O 226 | 90 | 12535 170 | 71 | 14 | 245 | 266 | 145 | M16 23 | 18 [185| — | 63| 56 |18 | 26 | 22 | 75 | 150 | M16X60 443891 44399
MXG 65 O 308 26.3
——————————————————————————————————————————————————— 16.0 2zl e 337000 | 581000 | 22800 |30 899 |54 832
LRXG 65 | O 309 26.6 120 000 | 120 000
MXL 65 - - | 208 380 | 200 | 295 | 26.3 419000 | 768000 | 30200 | 3% 8939 | 37800
- LRX 8 | — | 254 323 | 140 | 232 440000 | 753000 | 38900 | 439399 | 12833
- LRXG 85 | — | 327 | 36.7 |110 | 16 |65 |215| 925 15 | 395 | 200 | 304 [27.5 | 17.8 | M20 35 | 22 |255| 20 | 85| 67 |26.5| 39 | 30 | 90 | 180 |  M24X70 542000 | 985000 | 50800 |,29 999 | ,20 309
- LRXL 85 | — | 44.0 494 | 280 | 403 674000 |1300000 | 67300 |,85999 |,87 339
- LRXG100* | — | 43.0 | 432 [120 | 15 |75 | 250 [110 | 15 | 362 | 200 | 262 {29.7 | 17.8 | M20 35 | 30 |30.5| — |100 | 70 |33 | 48 | 36 | 75 [150 |  M30x80 498000 | 821000 | 49700 | 33830 | 133 833

Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page I-154.

() : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of MX series,
track rail mounting bolt is not appended.

(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

Remarks 1 : For grease nipple specifications, see Table 15 on page I-166.
2 : Three female threaded holes for grease nipple are prepared on each end plate.
3 : Model number marked #* is semi-standard item.

Example of identification number of assembled set
Model code Size Part code Preload symbol  Class symbol - Interchangeable code ~ Supplemental code

MX G 55 C2 R3000 T2 P S1 /F

O 6 6 0 O (6 ] (7 (s ] (o]
Series (6) Preload amo (8 Interchangeable code
35, 45, 55, 65, 85, 100 No symbol | Standard S1 Interchangeable specification

LRX Flange type mounting from top/bottom T Light preload S2 Interchangeabe specification
7 : F T2 Medium preload No symbol | Non speciication
c c r T, (® Number of slide unit (two units) 2l 4
o 0 T3 Heavy preload
@ PN = o . R—
‘ ‘ @ Length of slide (® Length of track rail (3000mm) () Accuracy cla (9) Special specification
@ c Short H High AD,EFGEHRIJLLF
No symbol | Standard P Precision MA, MN, PS, Q, RC, T, UR, V
G High rigidity long SP Super precision W, Y, Z
L Extra high rigidity long UP Ultra precision

1N=0.102kgf=0.2248lbs.
o-175 1mm=0.03937inch I-176



LK
IJCOC-Lube Linear Roller Way Super MX

LK)

Block type mounting from top
MXD ¢ LRXD
\ () ()
Shape 2—M,xdepth (L, (L,) ~4—M,xdepth
W, Grease L, L,
W, A nipple L,
15201 25 W, 0il hole e d,
Size AN/ :“‘l ‘ S I
30[35|45|55]65 | _ e : L
- - == | T ‘T? o = D \ [om ; =) .\ il
4lib il = = N
Nl W NI w d, MXDC MXD(--SL), MXDG
£ r LRXDG(--SL)  LRXD(--SL), LRXDG(--SL) | p
LRXD10-SL MXDC12, LRXDC12 T S
MXD 12, LRXD 12 L()
MXDG12, LRXDG12
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (%)
Model number S assembly mm mm for track rail(?) | load rating(®) | load rating (%)
= mm
LRX £ | slide | Track c C, T, T, T,
MX (Non C-Lube) | & | unit rail H | H, N w, | W, | W, | L, L, I, L, | M,Xdepth H, w H, d, d, h 5} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
- LRXD 10-SL | — | 0.028 | 048 | 13 | 15 |5 | 20 | 13 | 85 |345| 12 |20.8| — |M2.6%3 3 |10 | 8 | 35| 6 |35  125| 25 M3X10 3200 5880 37.9 1299 1399
18.6 18.6
,,,,, L . 40 158 44 4250 | 6500 | 494 | 496" | 196
LRXDC 12 O | 0.045 -
37 14.8 | 40 3900 6 090 46.3 L AL
= LRXDC 12--SL | O
45.8 45.8
,,,,, LN | U 30 it AL - 74 W 74
RXD 12 | O 47 25.3 | 50 5890 78.7 2132 | 32
0.072 0.92 20 | 3 75 | 27 15 | 6 M4 X4.5 4 12 12 3.5 6 45 | 20 40 M3X%x12 10 400 45.8 45.8
MXD 12--SL O 50 25.4 | 53 6120 79.1 T R
"""""""""""""""""""""""""""" 292 | 452 | 452
LRXD 12--SL | O 47 | 15 | 253 50 5890 78.7 i e
92.7 92.7
,,,,, e 61 366 64 8120 | 15000 | 114 | e28" | 628"
LRXDG 12 O | 0.097
58 35.8 | 61 7710 | 14600 111 e .
= LRXDG 12--SL | O

Notes (") : Track rail lengths are shown in Table 2.1 and Table 2.2 on page II-153, and Table 2.3 and Table 2.4 on page I-154.

() : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In stainless steel model, stain-
less steel bolts are appended. In assembled set of MX series, track rail mounting bolt is not appended.

(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T,, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

Remarks 1 : Size 10 is provided with oil holes. For specification, see Fig. 2 on page II-166.
2 : For grease nipple specifications, see Table 15 on page I-166.
3 : In size 12, mounting thread hole for grease nipple is provided on the left and right end plates respectively.

Example of identification number of assembled set

Model code Size Part code Material symbol ~ Preload symbol -~ Class symbol  Interchangeable code - Supplemental code
MXD G 12 C2 R560 T1 P S1 /F
(1) Series () Preload amo ® angeable code
Block type mounting from botiom No symbol | Standard Sil Interchangeable specification
LRXD . Ti Light preload S2 Interchangeable specification
T2 Medium preload No symbol | Noninterchangeable specfication
C. C, T, T, T, 2 Length o de Ts Heavy preload
& F = &= c Short : S
—t — + & No symbol | Standard No symbol | High carbon steel ® = pecial specification
ral s G Figh rigidity long [sC | Stainless steel g High_ A D, EFHP L L LF, MA
LEB_] LEB_] (G M P Precision MN,N,Q, T, VW, Y, Z
LA — Size SP Super precision
10, 12 UP Ultra precision

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch

I-177 I-178



LK T
IJCOC-Lube Linear Roller Way Super MX

Block type mounting from top

MXD ¢ LRXD
¥
== (L) (L)
Shape i W ) )
W, W, £ W, Grease L, L,
nipple (4) L,
. 3—M,xdepth L/2 LJ2 9—M, x depth
il @ |
Size |10 112 25 ' .| 7 @ - i m @‘
! 20 i
30|35|45 55|65 - o - | ¥ ¥ ‘
D ) 77—l 19F \ i | M s
Il L Lt
K d
T NI W ﬂue MXDC MXD (-+-SL), MXDG MXDL
2 £ LRXDG (-SL) LRXD (-SL), LRXDG (-SL) 2
L()
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (%)
Model number S assembly mm mm for track rail (%) | load rating(®) | load rating (®)
=z mm
=
LRX S| Slide | Track . C C, T, T, T,
MX (Non C-Lube) | & | unit rail H H, N w, | W, | W, | L, L IL, L, | M, Xdepth H, w H, d, d, h 5} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
MXDC 15 LRXDC 15 O
0.13 52 | — |24 | 55 7730 | 12000 113 4298 4298
- LRXDC 15--SL | O
MXD 15 LRXD 15 O 136 136
0.19 1.65 28 4 95| 34 13 4 68 40 71 M4 x8 7.5 15 | 16.5 | 4.5 8 6 30 60 M4x16 11 500 20 000 188 945 945
MXD 15--SL LRXD 15-SL | O o6
MIXDE 15 ke © 0.26 84 56 87 14900 | 28000 263 262 262
- LRXDG15-SL | O | 1590 1590
MXDC 20 LRXDC 20 @) 150 150
0.25 66 | — 316 | 74 16 100 26 400 341 1280 1280
= LRXDC 20--SL | O
MXD 20 LRXD 20 O 379 379
0.38 86 | 36 | 51.6| 94 23 400 42 700 550 2 B50 2 850
MXD 20---SL LRXD 20--SL | O 2.73 34 5 [12 44 16 6 M5X%x8 8 20 | 21 6 9.5 8.5 30 60 M5x%20
WIXDE 20 L0620 o 0.52 106 | 50 | 71.6 | 114 30100 | 58900 760 - o
— LRXDG 20--SL | O ' ' LA vzt
MXDL 20 - - | o067 128 | 70 | 94.1| 137 37200 | 77200 996 s249 | 1219
Notes (") : Track rail lengths are shown in Table 2.1 and Table 2.2 on page I-153 and Table 2.3 and Table 2.4 on page I-154.
() : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In stainless steel model, stain-
less steel bolts are appended. In assembled set of MX series, track rail mounting bolt is not appended.
(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.
(%) : For grease nipple specifications, see Table 15 on page 1I-166.
Remark : A mounting thread hole for grease nipple is provided on the left and right end plates respectively.
Example of identification number of assembled set
Model code Size Part code Material symbol  Preload symbol ~ Class symbol  Interchangeable code - Supplemental code
MXD G 20 C2 R840 T1 P S1 /F

O Series © Preload amount @ Interchangeable code
Block type mounting rom bottom 15, 20 No symbol | Standard St Interchangeable specification

LRXD T1 Light preload S2 Interchangeable specification
T Medium preload No symbol | Non specification
C. G, T, T, T, (@ Length of slide Ts Heavy preload
v gy o N sibor| Sindag ® Accura
. ] 1" G High rigidity ong ) H High _ A D,E FHPIJ L LFMA
LEE_] LEE_] [ I I I L Extra high rigidity long (® Material symbol P Precision _ MN, N, Q, RC, T, UR, V, W, Y
¢ @ No symbol | High Carbon steel SP Super precision z
ISL | Stainless steel | UP Ultra precision
1N=0.102kgf=0.2248lbs.
I-179 1mm=0.03937inch I-180



LK T
IJCOC-Lube Linear Roller Way Super MX

Block type mounting from top

MXD ¢ LRXD
¥
BT (L) ()
Shape CHG w (L) L)
W, W, : W, L i
. 3—M,xdepth L/2 ) LJ2 9—M, x depth
= d |
Size o) 12115120 ' .| 7 @ - i T @‘
! o ;
3545|5565 - o - | ¥ | ‘
D < 7—cl o\ 9P \ |
il T L]
K d
T N W ﬂue MXDC MXD(:+-SL), MXDG MXDL
£ £ LRXDC (--SL) LRXD(-SL), LRXDG(---SL) E
L(")
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (%)
Model number S assembly mm mm for track rail (%) | load rating(®) | load rating (®)
=z mm
=
LRX S| Slide | Track . C C, T, T, T,
MX (Non C-Lube) | & | unit rail H H, N w, | W, | W, | L, L IL, L, | M, Xdepth H, w H, d, d, h 5} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
MXDC 25 LRXDC 25 O 213 213
0.36 74| - |3 | 83 21600 | 33800 500 1813 1813
- LRXDC 25--SL | O
MXD 25 LRXD 25 O 573 573
0.55 98 | 35 | 60 | 107 32100 | 56300 833 3868 3368
MXD 25---SL LRXD 25-SL | O 3.59 40 | 6 125] 48 |175| 6.5 M6X%x12 9 23 24.5 7 11 9 30 60 M6 %25
MXDE 25 el © 0.68 113 | 50 | 75 | 122 38 200 70300 | 1040 885 885
- LRXDG 25-SL | O ' 5380 5380
MXDL 25 = - | 088 137 | 70 | 99 | 146 47400 | 92800 | 1370 4339 4530
MXDC 30 LRXDC 30 O
0.60 85 | — | 42.4| 95 29200 | 44600 808 e .
= LRXDC 30-SL | O 27 27
MXD 30 LRXD 30 O 883 883
0.92 113 | 40 | 70.4| 123 43 400 74 400 1350 5580 5980
MXD 30---SL LRXD 30-SL | O 5.01 45 | 6.5 | 16 60 | 20 10 M8X12 9.5 28 28 9 14 12 40 80 M8Xx28
MXDG 30 LRXDG 30 O
1.18 134 | 60 | 91.4| 144 53200 | 96700 | 1750 i Jig
- LRXDG 30--SL | O S Sy
MXDL 30 - —-| 152 162 | 80 [119.4| 172 65600 | 126000 | 2290 | 43839 | 15399
Notes (") : Track rail lengths are shown in Table 2.1 and Table 2.2 on page I-153, and Table 2.3 and Table 2.4 on page I-154.
() : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In stainless steel model, stain-
less steel bolts are appended. In assembled set of MX series, track rail mounting bolt is not appended.
(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7, T,, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.
(%) : For grease nipple specifications, see Table 15 on page 1I-166.
Remark : A mounting thread hole for grease nipple is provided on the left and right end plates respectively.
Example of identification number of assembled set
Model code Size Part code Material symbol ~ Preload symbol ~ Class symbol  Interchangeable code  Supplemental code

MXD G 25 C2 R840

O 6 © 0 ©0 (6 (7 (8 (o (10
[OXEES (D Preload amo (9) Interchangeable code
25,30 No symbol | Standard S1 Interchangeable specification

TP St

LRXD Block type mounting from boftom T1 Light preload S2 Interchangeable specification
(9 Number of slide unit (two units) T2 Medium preload No symbol | Non speciication
C. G, T, T, T (@ Length of slide Ts Heavy preload
— ﬁ S C Shor al speciicat
@ Mo oo | Standerd (5) Length of track rail (840mm) ® Accura 5 Special specification
] 5 Yo | e &) G High rigidity long . H High A D,E,FHR I, J, L, LF MA
LEEJ LEBJ A D n Extra high rigidity Iong ® Material symbol P Precision _ MN, N, Q, RC, T, UR, V, W, Y
® ¢ No symbol | High Carbon steel SP Super precision z
[sL | Stainless steel | [up Ultra precision

1N=0.102kgf=0.2248lbs.
I-181 1mm=0.03937inch I-182



LK T
IJCOC-Lube Linear Roller Way Super MX

Block type mounting from top

MXD ¢ LRXD
Shape ‘va> Grease L) (L) (L)
p e ol w [ L w [ i i )
fl 3—M,xdepth G—fodepth L/2 2 L2 9—M,xdepth
‘ \
T d, T T T
Size | 10112/15/20 |25 @ @ i o i
30 55 | 65 - vl - > ==L
- — - : ) ° o o () () [
HE = SRR
L A\ A\ A\ -
= NI w | d, MXDC MXD, MXDG MXDL
£ r LRXDC LRXD, LRXDG E
L(")
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (%)
Model number 5] assembly mm mm for track rail(?) | load rating(®) | load rating (%)
2 mm
rx | S| Slide | Track c C, T, T, T,
MX (Non C-Lubey| & | unit rail H H, N w, | W, | W, | W, | L, L, L, L, | M, *Xdepth H, w H, d, d, h 5} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
MXDC 35 O 12.7
——————————————————————————————————————————————————— 0.97 92 | — | 466 39500 | 60000 | 1300 3% 3%
LRXDC 35 | O 12.5 3 950 3950
MXD 35 O 12.7
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 1.52 124 | 50 | 78.6( 58700 | 100000 | 2170 4389 4389
LRXD 35 | O 6.88 | 55 | 65 |18 | 78 | 70 | 25 | 10 125 | M 8x16 20 | 34 | 32 9 | 14 | 12 |40 80 M 8x35
MXDG 35 O 12.7
——————————————————————————————————————————————————— 2.02 152 | 72 [106.6| 74200 | 135000 | 2930 440 g ad
e B 125 13800 | 13800
MXDL 35 = - | 255 184 | 100 [138.6| 12.7 90800 | 175000 | 3800 | »,5989 | 54989
MXDC 45 | LRXDC 45 | O | 2.01 114 | — | 59 64100 | 95600 | 2660 1348 1342
MXD 45 |LRxD 45 | O| 3.3 154 | 60 | 99 95400 | 159000 | 4430 | (3489 | 3788
108 | 70 | 8 |205| 97 | 8 | 30 | 13 17.5 | M10X20 26 | 45 | 38 | 14 | 20 | 17 | 525 | 105 M12x40 550 S50
MXDG 45 | LRXDG 45 | O | 4.29 194 | 80 [139 124000 | 223000 | 6200 | ,3338 | 58333
MXDL 45 - - | 5.36 234 | 120 [179 151000 | 287000 | 7980 | ,8380 | ,8380

Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page I-154.

() : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of MX series,
track rail mounting bolt is not appended.

(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

(%) : For grease nipple specifications, see Table 15 on page 1I-166.

Remark : Three female threaded holes for grease nipple are prepared on each end plate.

Example of identification number of assembled set

Model code Size Part code Preload symbol - Class symbol  Interchangeable code ~ Supplemental code

MXD G 35 C2 RI200 T2 P S1 /F

O 6 6 0 O o (7 (& ] o
(D Series (® Preload amo (8 Interchangeable code
35, 45 No symbol | Standard St Interchangeable specifcation

LRXD Block type mounting from bottom T1 Light preload S2 Interchangeable specification
T2 Medium preload No symbol | Noninterchangeable speciication
C. C, T, T, T, Ts Heavy preload
v (2) Length of slide (@ Accuracy cla
—_— — ] 5 & — C Short H High AD,E.FEHP L, J, L LF MA
LEBJ LEBJ e No symbol | Standard B Precision MN, N, PS, Q, RC, T, UR, V, W
¢ @ G High rigidity long SP Super precision Y, Z
L Extra high rigidity long UP Ultra precision

1N=0.102kgf=0.2248lbs.
I-183 1mm=0.03937inch I-184



LK T
IJCOC-Lube Linear Roller Way Super MX

Block type mounting from top

MXD ¢ LRXD
\
)
1 (L) (L, (L)
Shape LA L) L ) L L L)
W W W, ‘ L L
l 3—M,xdepth 6—M,xdepth L/2 L2 ‘ 9—M,xdepth
T
T d, - T T T
Size | 10/12/15 12025 @ @ i o o
30|35 45 - car i - > B = L
- : () ° o o () () [
HE = SRR
L A\ A\ A\ -
e Nl ow | 4y MXDC MXD, MXDG MXDL
£ F LRXDC LRXD, LRXDG E
L(")
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (%)
Model number 5] assembly mm mm for track rail(?) | load rating(®) | load rating (%)
2 mm
rx | S| Slide | Track . C C, T, T, T,
MX (Non C-Lubey| & | unit rail H H, N w, | W, | W, | W, | L, L, L, L, | M, *Xdepth H, w H, d, d, h 5} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
MXDC 55 | LRXxDC55 |O| 3.17 136 | — | 72 99700 | 149000 | 4830 | (4889 | 1889
MXD 55 |LRXD 55 |O| 4.97 184 | 75 | 120 148000 | 248000 | 8040 | 59938 | 39938
141 | 80 | 9 [235| 111 | 100 | 37.5 | 125 20 | M12x25 26 | 53 | 43 | 16 | 23 | 20 | 60 | 120 M14x45 0400 | 50400
MXDG 55 | LRXDGS5 | O | 7.06 238 | 95 | 174 198000 | 359000 | 11700 | 19400 | 10400
MXDL 55 - -| 908 292 | 150 | 228 244000 | 470000 | 15300 | JZ70Q | 47700
MXDC 65 O 180 26.3 4299 | ,3399
e 552 | | | | | 1 0 | e - | 95 [ AT | 2008 | 9w |20 SR
LRXDC 65 | O 181 26.6 32 200 32 200
MXD 65 O 244 26.3 8899 | 11309
e e 870 | | | ol e 70 | 159 [ ARG || ST | eem |-EEEL - BHREE
LRXD 65 | O 226 | 90 | 12 | 315|136 | 126 |38 |25 | 245 26.6 | M16x25 18 | 63 | 56 | 18 | 26 | 22 | 75 | 150 M16x60 a4800 | 14809
MXDG 65 O 308 26.3
——————————————————————————————————————————————————— 12.1 | D) | 2R s 337000 | 581000 | 22800 | ,3}889 | 54830
LRXDG 65 | O 309 26.6 120 000 | 120 000
MXDL 65 = - | 155 380 | 200 | 295 | 26.3 419000 | 768000 | 30200 | 4385899 |43%839

Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page 1-154.

() : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of MX series,
track rail mounting bolt is not appended.

(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

Remarks 1 : For grease nipple specifications, see Table 15 on page I-166.
2 : Three female threaded holes for grease nipple are prepared on each end plate.

Example of identification number of assembled set

Model code Size Part code Preload symbol ~ Class symbol - Interchangeable code  Supplemental code

MXD G 55 C2 R3000 T P S1 /F

O 6 6 0 O (6 ] (7 (s ] (o]
() Series (8 Preload amo (8 Interchangeable code
55, 65 No symbol | Standard S1 Interchangeable specifcation

LRXD Block type mounting from bottom Ti Light preload S2 Interchangeable specification
T2 Medium preload No symbol | Noninterchangeable speciication
C. C, T, T, T, Ts Heavy preload

v @) Lemgfin Gif Skl (D Accuracy cla
— — —1° I C Short H High A D,E FHPI,J L LF MA
LEB_] LEB_] 9 s ¢ I No symbol | Standard P Precision MN, PS, Q,RC, T, UR, V, W

L G High rigidity long SP Super precision Y, Z
L Extra high rigidity long UP Ultra precision

1N=0.102kgf=0.2248lbs.

I-185 1mm=0.03937inch I1-186



LK K
IJCOC-Lube Linear Roller Way Super MX

Compact block type mounting from top

MXS ¢ LRXS
¥
Shape ‘ ) ) (L)
W L) (L) @)
C Grease L, L, L,
W, W, W nipple L, L
o d 3—M xdepth 6— M, x depth L/2 LJ2 9—M, xdepth
> ‘
Size mm ] AT & | OF ‘ i ] i
35 |45 | 55 g == - ‘ : L0 L L ‘
\U,:H P_‘ = i D | x a D \ a L —D \ ad \‘T,‘H
(] et Ll
&l N w 4, L MXSC MXS, MXSG MXSL
E F LRXSC LRXS, LRXSG E
L(Y)
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (*)
Model number 5] assembly mm mm for track rail () | load rating(*) | load rating ()
= mm
LRX g Slide | Track C c, T, T, T,
MX (Non C-Lube)| & | unit rail H | H | N | W | W | W/| L |L | L | L |MXdph® H | W | H | 4 | 4 h E F | Bolt sizeXlength
on b-Lube)) & kg kg/m N N N-m N-m N-m
MXSC 15 | LRxsC 15 | O | 0.099 52 | — | 24 | 55 7730 | 12000 113 4206 4206
MXS 15 |LRxs 15 |O| 0.15 165 | 24 | 4 95| 34 |13 4 68 | |40 | 71| M4x 55 35 | 15 | 165 | 45 | 8 6 30 | 60 M4x16 11500 | 20000 188 438 438
MXSG 15 LRXSG 15 | O | 0.21 84 56 | 87 14900 | 28000 263 12828 1288
MXSC 20 LRXSC 20 | O | 0.21 66 | — | 31.6| 74 16100 | 26400 341 G b 1o
MXS 20 | LRxs 20 | O| 0.31 86 | 36 | 51.6| 94 23400 | 42700 550 | 3853 | 2283
273 | 30 |5 |12 | 44 |16 6 M5X 6.5 4 20 | 21 6 95| 85| 30 | 60 M5 %20 13 43
MXSG 20 LRXSG 20 | O | 0.42 106 | 50 | 71.6| 114 30100 | 58900 760 ok A
MXSL 20 - —-| 055 128 | 70 | 94.1| 137 37200 | 77200 996 dizll 12
MXSC 25 LRXSC 25 | O | 0.30 74| - |36 | 83 21600 | 33800 500 1818 1818
MXS 25 |LRxs 25 |O| 047 98 | 35 | 60 | 107 32100 | 56300 833 | 5308 53538
359 | 36 | 6 |125| 48 |175| 65 M6X 9 5 23 | 245 | 7 11 9 30 | 60 M6x25 885 885
MXSG 25 LRXSG 25 | O | 0.57 113 | 50 | 75 | 122 38200 | 70300 | 1040 5583 5582
MXSL 25 - -] 074 137 | 70 | 99 | 146 47400 | 92800 | 1370 4339 4333
MXSC 30 | LRXSC 30 | O | 0.54 85 | — | 424| 95 29200 | 44600 808 | ,333 N
MXS 30 |LRxs 30 (O 0.83 113 | 40 | 70.4| 123 43400 | 74400 | 1350 | 5883 =
501 | 42 | 6.5 | 16 60 |20 |10 M8x 11 65 | 28 |28 9 14 | 12 40 | 80 M8x28 G s
MXSG 30 LRXSG 30 | O | 1.05 134 | 60 | 91.4| 144 53200 | 96700 | 1750 e 3479
MXSL 30 - - 137 162 | 80 |119.4| 172 65600 | 126000 | 2290 | 43899 | 438%9

Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page 0-154.

(®) : Insertion screw depth for slide units are recommended as shown in Table 16.1 on page I-168.

(®) : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of MX series,
track rail mounting bolt is not appended.

(*) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

() : For grease nipple specifications, see Table 15 on page I-166.

Remark : A mounting thread hole for grease nipple is provided on the left and right end plates respectively.

Example of identification number of assembled set

Model code Size Part code Preload symbol ~ Class symbol  Interchangeable code  Supplemental code

MXS G 25 C2 R840 T+ P S1 /F

Series (® Size (6) Preload amo ® Interchangeable code
Compact block type 15, 20, 25, 30 No symbol | Standard S1 Interchangeable specification

LRXS mounting from bottom _ i . T4 Light preload S2 Interchangeable specification
T (& Number of slide unit (two units) T2 Medium preload | | No symbol | Nonietchangeab speciicaion
C. G, T, T, v (2 Length of slide Ts Heavy preload
U = =2 N c Short ;
No syl | Stancard (® Length of track rail (840mm) @ A = = (® Special specification
L $ $ " PPNy i
=2l 5 & Ly s P
= Ead L Extra high rigidity long recision __ ,N,Q,RC, T, UR,V,
* & SP Super precision Y, Z
uP Ultra precision

1N=0.102kgf=0.2248lbs.
o-187 1mm=0.03937inch I-188



I

IJCOC-Lube Linear Roller Way Super MX

Compact block type mounting from top

0]

MXS
¥ w,) )
Shape ; W Grease 1
P W, W, : W, nipple (% L) I;
o 6—M,xdepth
= " i Tabec SLLY
. 15 | 20 | 25 | 30 o ! i i ‘ I
Size =7 — ___Je i e}
. = ——
i g o = 0 C e
Ll Dl )
= N w 4
E F E
L("
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (%)
Model number 5] assembly mm mm for track rail (%) | load rating(®) | load rating (®)
= mm
=
rx | S| Slide | Track c C, T, T, T,
MX (Non C-Lubey| & | unit rail H H, N W, w, | W, | W, i, L, L, L, |M, *Xdepth H, w H, d, d, h 5} F | Bolt size Xlength
£ kg kg/m N N N-m N-m N-m
MXS 35 ~ O] 1.22 124 | 50 | 786 58700 | 100000 | 2170 4960 4960
6.88 | 48 | 6.5 |18 78 70 | 25 10 12.7 |M 8x12 13 34 32 9 14 12 | 40 80 M 8x35 > 440 > 440
MXSG 35 - O 1.61 152 | 72 |106.6 74200 | 135000 2930 15 800 15 800
MXS 45 — O| 2437 154 | 60 | 99 95400 | 159000 | 4430 | 3488 | 48499
10.8 60 | 8 205 | 97 86 | 30 13 17.5 |M10X%X18 16 45 38 14 20 17 | 52.5 | 105 M12x40 5520 5920
MXSG 45 - O| 827 194 | 80 [139 124 000 | 223 000 6 200 23 600 23 600
MXS 55 — O] 3.96 184 | 75 |120 148000 | 248000 | 8040 | 53980 | ;%949
14.1 70 | 9 235 | 111 | 100 | 37.5 | 12,5 20 |M12x20 16 53 43 16 23 20 | 60 120 M14x45 10 400 10 400
MXSG 55 - O| 5.63 238 | 95 |174 198 000 | 359000 | 11700 57 000 57 000
Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page I-154.
() : Track rail mounting bolts are not appended.
(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7, T,, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.
(%) : For grease nipple specifications, see Table 15 on page I-166.
Remark : Three female threaded holes for grease nipple are prepared on each end plate.
Example of identification number of assembled set
Model code Size Part code Preload symbol  Class symbol  Interchangeable code  Supplemental code
MXS G 45 C2 R470 ™ P S1  /F
(1) Series (® Size (6) Preload amo (® angeable code
MXS Compact block type 35, 45, 55 No symbol | Standard S1 Interchangeable specification
mounting from bottom T1 Light preload S2 Interchangeable specification
T Medium preload No symbol | Noninterchangeable specfication
C G, T, T, I Ta Heavy preload
PN [ & “ Length of slide unit ; . —
% ‘ - - o symol Stndad I 0H A ;{gh e|se|c|
LEEJ LEEJ @ (b e e @) La | High iicty long l P Precision N, RC. T, UR, V. W, Z
b + SP Super precision
UP Ultra precision
1N=0.102kgf=0.2248Ibs.
I-189 1mm=0.03937inch I-190



LK K
IJCOC-Lube Linear Roller Way Super MX

Low section flange type mounting from top

(L) w)
- L,
W, Grease 6-M, - (L‘Z (i‘)
‘:a} W, W, nipple (%) Lz L: =
1 3 3 d L2 L2
ES t} *:} : ¢ T
mﬁmegg ::m @ ‘ ‘ ‘ T - i Q | u‘u : : _u‘u u‘u 1B © y i
MXNL 30 N © © < > \ G > | \ i \” =
= N w A\ 4 MXN 30 MXNL30
6} E F MXNG30 E
MXN 30 LY
MXNG30
MXNL30
W, - G’ree;se5 6—M, L, . ‘ (Lia w (2)
ZVa ;‘ ‘ W, , nipple () L L, 9-M,
: . a 2 A
| VE _[€ O] I ) [
= 4 i H} P il i )
= LI | T= \ |° °| L~ |° | °| 7 ==
- . 1o © = L —i | N e
- NEE N L L
T N w E—@— LM« MXN MXNL
Q Q MXN E F MXNG E
MXNG L(")
MXNL
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (*)
Model number S assembly mm mm for track rail (®) | load rating (4) | load rating (4)
= mm
o
x| S| Slide | Track Maximum c G, T, T, T,
MX (Non C-Lube) E unit rail H |H | N | W, | W | W |L | L L, L, | Ly | Ly | d | M, screwing| H, | H, | W | H, | d, | d, h E F | Bolt sizeXlength
= kg kg/m depth(?) N N N-m N-m N-m
MXN 30 - Ol 1.05 113 5 70.4| 121 " 43400 | 74400 | 1350 | 883 | 883
MXNG 30 - O| 1.38 5.01 | 38 | 6.5 |31 9| 36 | 9 |134 91.4|142 | — 8.5 | M10 9 10 | 45| 28 | 28 | 9 | 14 | 12 |40 | 80 M 8x28 53200 | 96700 | 1750 | 1478 | 1479
MXNL 30 = - 175 162 | 80 |119.4| 170 - 65600 | 126000 | 2290 | (3839 | 28008
MXN 35 - O| 155 124 o 78.6 o 58700 | 100000 | 2170 | 2369 | 1360
MXNG 35 - O| 213 6.88 | 44 | 65|33 |100| 41 | 9 |152 106.6| — |12.7 8.5 | M10 11 13 |11 | 34 | 32| 9 | 14 | 12 |40 | 80 M 8x35 74200 | 135000 | 2930 | (3488 | 5442
MXNL 35 - —| 271 184 | 100 |138.6 - 90800 | 175000 | 3800 | %989 | »% 988
MXN 45 - O| 258 154 50 99 60 95400 | 159000 | 4430 | 43489 | 13488
MXNG 45 - O| 373 | 108 | 52 |8 [375|120| 50 | 10 | 194 139 | - |175 10.5 | M12 13 15 [135| 45 | 38 | 14 | 20 | 17 |52.5| 105 M12x40 124000 | 223000 | 6200 | ,3333 | 53333
MXNL 45 - —| 472 234 | 120 [179 - 151000 | 287000 | 7980 | ,8389 | 8383
MXN 55 = O| 461 184 [120 0 148000 | 248000 | 8040 | 59938 | 53983
MXNG 55 - O| 694 | 141 | 63 |9 |435|140| 58 | 12 |238 174 | — |20 12.5 | M14 19 17 (16 | 53 | 43 | 16 | 23 | 20 |60 |120 M14x45 198000 | 359000 | 11700 | 10409 | 19400
MXNL 55 - —-| 887 292 | 150 (228 - 244000 | 470000 | 15300 | 44488 | §4760

Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page 1-154.

(®) : It is recommended to secure actual screwing depth should not exceed the maximum screwing depth in the table.

(®) : Track rail mounting bolts are not appended.

(*) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T, T,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
close contact.

(%) : For grease nipple specifications, see Table 15 on page I-166.

Remarks 1 : In size 30, a grease nipple mounting thread hole is provided on the left and right end plates respectively.
2 :1In size 35, 45 and 55, three female threaded holes for grease nipple are prepared on each end plate. In size 35, thread size of

front face is smaller than other threads thus, please consult LI if grease nipple for front face is required. MXN G 55 C2 R3000 T2 P S1 /F

@ (® Size (6) Preload amo ® erchangeable code
MXN Low section flange type 30, 35, 45, 55 No symbol | Standard S1 Interchangeable specification

Example of identification number of assembled set

Model code Size Part code Preload symbol ~ Class symbol  Interchangeable code  Supplemental code

mounting from top Ti Light preload S2 Interchangeable specification
- T2 Medium preload No symbol | Non specifcation
@G I — = Ts Heavy preload
@ No symbol | Standard (5 Length of track rail (3000mm) ; ificati
‘ ‘ e o G High rigidity long (D) Accuracy cla (9) Special specification
a} a} =1 T o lo_ol s L Extra high rigidity long H High _ A D EFHRTJ L LFMA
( 1 L ¥ [ P Precision RC, T, UR, V, W, Z
o o SP Super precision
UP Ultra precision

1N=0.102kgf=0.2248lbs.
I-191 1mm=0.03937inch I-192



LK T
IJCOC-Lube Linear Roller Way Super MX

Low section block type mounting from top w o
MXNS W, Grease (Li (IL“)
¥ W, LA nipple () 6—M,xdepth | I, I, | 9-M,xdepth
h ‘ - d, [ Lp L2 | —
Shape ¢ | L T |
MXNS 30 i - =11 w R e e % ===
MXNSG 30 = Ll A= — al _ al |\
. MXNSL 30 e = \ \ ===
Size - L E )
g | v ow d, MXNS 30 MXNSL30
E F MXNSG30 E
L()
®) w )
. . f - Glrease5 (L) L, (L) L
‘ > £ nipple €) 6—M, xdepth L I 9—M,xdepth
d, LJ2 LJ/2
B !
: ; ‘L‘; - i E \\Eij\ 3 E \Li ] I i ] 3
= \j‘,,:,\ = - (-] \ (-] o \ o i H‘fm
[ —— \ [
T N W d, ‘_ MXNS MXNSL
E F MXNSG E
L(")
2 Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic dynamic | Basic static Static moment rating (*)
Model number 5 assembly mm mm for track rail (®) | load rating(“) | load rating ()
= mm
f=
LRX £| Slide | Track Maximum C C, T, T, T,
MX (Non C-Lube) g unit rail H | H | N |W | W |W|W|L |L | L | L | L |M>XdpthC® screwing| H, | W | H, | d, | d, h 12} F | Bolt sizeXlength
= kg kg/m depth(®) N N N-m N-m N-m
— 883 883
MXNS 30 O| 070 113 | 40 | 70.4| 121 43400 | 74400 | 1350 | 883 | 883
MXNSG 30 = O| 090 | 501 |38 |65|16 | — | 60|20 |10 |134| 60| 91.4/142| — | M 8x 8 9 | 45|28 | 28| 9 | 14|12 |40 | 80 M 8x28 53200 | 96700 | 1750 | 4479 | 1479
= ~ 2 500 2 500
MXNSL 30 1.14 162 | 80 [119.4| 170 65600 | 126000 | 2290 | 133939 | 52393
- 1 360 1360
MXNS 35 O 1.08 124 | 50| 78.6 58 700 | 100 000 2170 8470 8 470
MXNSG 35 = O| 142 | 688 |44 | 65|18 | 78| 70|25 |10 |152| 72 |106.6| — [12.7| M 8X 9 11 |11 | 34|32 | 9| 14 |12 |40 | 80 M 8x35 74200 | 135000 | 2930 | 13849 | 13833
- — 4 060 4 060
MXNSL 35 1.81 184 | 100 |138.6 90800 | 175000 | 3800 | 3989 | %4989
- 2700 2700
MXNS 45 O] 184 154 | 60 | 99 95400 | 159000 | 4430 | 2499 | 2399
MXNSG 45 - O| 258 | 108 |52 |8 |205 94| 86|30 |13 [194| 80139 | — |[17.5| M10x11 13 [185| 45 | 38 | 14 | 20 | 17 |52.5| 105 M12x40 124000 | 223000 | 6200 | 3839 | »8889
- — 8 560 8 560
MXNSL 45 3.29 234 120 |179 151000 | 287000 | 7980 | ,$%88 | ,8389
- 5 040 5040
MXNS 55 O| 3.31 184 | 75 [120 148000 | 248000 | 8040 | 53949 | 55949
MXNSG 55 ~ O| 483 | 141 |63 |9 [235]111 (100 |37.5/12.5(238| 95174 | — |20 | M12x15 19 |16 | 53 | 43 | 16 | 23 | 20 |60 | 120 M14x45 198000 | 359000 | 11700 | 10400 | 19400
— — 17 700 17 700
MXNSL 55 6.28 292 | 150 |228 244000 | 470000 | 15300 | 34789 | 17700
Notes (") : Track rail lengths are shown in Table 2.1 on page I-153 and Table 2.3 on page 1-154.
(® : Insertion screw depth of slide unit mounting holes are shown in Table 16.2 on page I-168. It is recommended to secure actual
screwing depth should not exceed the maximum screwing depth in the table.
(®) : Track rail mounting bolts are not appended.
(*) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T, T,) are shown in the
ilroestgf;eosngil?w. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in Example of identification number of assembled set
() : For grease nipple specifications, see Table 15 on page I-166. Model code Size Part code Preload symbol  Class symbol  Interchangeable code  Supplemental code

Remarks 1 : In size 30, a grease nipple mounting thread hole is provided on the left and right end plates respectively.
2 :In size 35, 45 and 55, three female threaded holes for grease nipple are prepared on each end plate. In size 35, thread size of MXNS G 55 C2 R3000 T2 P S1 /F
front face is smaller than other threads thus, please consult IICO if grease nipple for front face is required. e — — —

(1) Series (® Size (6) Preload amo (® Interchangeable code
MXNS Low section Block type 30, 35, 45, 55 No symbol | Standard S1 Interchangeable specification

mounting from top . . . T1 Light preload S2 Interchangeable specification
(9 Number of slide unit (two units) T2 Medium preload No symbol | Non speciication
[eNe T, T, T, (2 Length of slide Ts Heavy preload
1 PN & o No symbol | Standard i : errpmomn
@ 5 Y! Hioh "Gy oD (8 Length of track rail (3000mm) @ A = = e s i
EI L Exira high rigidity lon H High A D EFHRIJLLFMA
Etﬂ Etﬂ f | I fo—eo| | ¢ N Torcly one P Precision RC,T,UR,V,W, Z
e o SP Super precision
UP Ultra precision

1N=0.102kgf=0.2248lbs.
I-193 1mm=0.03937inch I-194



Linear Roller Way X

I-196
I-195



L[]
ldentification number and specification

The specification of Linear Roller way X is indicated by the identification number, consisting of amodel code, a size, a part
code, a preload symbol, a classification symbol and any supplemental coads.

O 960 O 0600 9

Assembled set LRWX 35 C2 R660 B T2 SP /Z

Linear Roller Way X

OSeries
Model

. on page I-199

Size  onpage I-199

@Numher of slide units J
S:;te on page I-199
QLength of track rail J
) i @Preload ammount J
[ Slide unit j :yrem'%i?onpage 1-200

Casing

®Accuracy class - /
Classfication

Cylindricallroller oo " PA%e 1-200

reaseinipple OSpecial specification .

Supplemental

T :
R

etainingplate

on page I-201

Underiseal

Endiseal

guilels i aylineldaa rollers i fourrons]

R S —| ‘
ceﬂ%ra//é‘r%ﬁfmgemﬁ enHpLoVIaes,
- fozre] egpeaaliy in all

Tovo siteppas af Slicls anks, idangad §ps and leak §ps are avalkaal far
opilina produsts o il ior raquiraman oF maailns and aqujamany

o-197 1mm=0.03937inch I-198




I B[]

Ident"icatiun “umher a“d spec"icatinn —Senies - Size of rolling guide - Numberof slide units - Length of track rail—

—Preload amount - Accuracy class - Special specification—

Linear Roller Way X (") Block type mounting from top : LRWX:--B Standard :No symbol  Specify this item for an assembled set or a single slide
Flange type mounting from bottom : LRWXH Light preload 5 T4 unit.
Applicable size and shape of slide unit are shown in Tablef. Medium preload T2 For applicable preload amount, see Table3. For details
Heavy preload 58 of preload amount, see Table4.
Note(") Linear Roller Way without C-lube.
@ Accuracy class High ‘H
@ Size 25, 35, 45, 55, 75 Applicable size and shape of slide unit are shown in Table1. Perecision . P For details of accuracy, see Table3.
Super precision : SP
Ultra precision UP
0 Number of slide units :CO For an assembled set, indicates the number of slide units as-
sembled on track rail.
o Length of track rail ‘RO Indicate the length of track rail in mm. Table 3 Preload amount
For standard and maximum lengths, see “Track rail length” in ltem Preload
Table 2. Preload Symbole amount Application
type N
Standard (No Symbol) o - Very smooth motion
- Minimum vibration
Light preload Ti 0.02 C, - Load is evenly balanced Load is evenly balanced
Table 1 Type and size - Smooth and precise motion
Size Medium preload Te 0.05¢, | Medum vibration
Shape Model code - Medium overhung load
25 35 45 55 75 - Vibration and / or shocks
Block type mounting from top Heavy preload Ts 0.08 C, - Large overhung load
- Heavy cutting
Note () : Zero or minimal amount of preload.
LRWX--B o o O e O P

Remark : C; means the basic static load rating.

Table 4 Accuracy
LRWXH - @) O O O 40

© © 30
g
= ® ; ; ® . vigh
2 20 — |
% / Precision P)
Table 2 Standard and maximum length of track rail L g / |
N si )
10 ~ Super Precision (SP) |
n_(Number of mounting holes) @_> é\//—‘ Ultra Precision (UP)
I
== 5 == = unit : mm g 500 1000 1500 2000 2500 3000
7 T[T 1) T[T i T[T | ificati q
Cas(ssl;%?blglr)] ik | Sresfen Su")e.r Ult.ré Length of track rail L mm
s 7 . precision | precision
L i) (H) (P &) (L) Fig.1 Parallelism in operation
unit - mm Dim. H tolerance +0.040 | £0.020 | £0.010 | *0.008
. Dim. N tolerance +0.050 | £0.025 | £0.015 | *0.010
N e e e ) U R R Dim. variationof () | 0015| 0007| 0005 | 0,003
Dim. variation of N(") 0.020 0.010 0.007 0.003
480 ( 8) 480 (16) 480 ( 8) 800 (10) 800 ( 8) 840 ( 7) Dilin,. Al @ &1 e
660 (11) 660 (22) 660 (11) 1040 (13) 1000 (10) 1200 (10) mult.iple e e 0.035 0.025 - -
Standard length L(2) 840 (14) 840 (28) 840 (14) 1200 (15) 1200 (12) 1560 (13) Parallelism i ti
9 . 1020 (17) 1020 (34) 1020 (17) 1520 (19) 1500 (15) 1920 (16) frgf'im i operation See Fig.1
1200 (20) 1200 (40) 1200 (20) 1920 (24) 2000 (20) 3000 (30) orLI0A :
1500 (25) 1500 (50) 1500 (25) 3000 (30) Parallelism in operation See Fig.1
Pitch of mounting holes 60 30 60 80 100 120 of DtoB
Note (") : It means the size variation between slide units mounted on
E 30 15 30 40 50 60 )
Standard Incl. 9 9 12 15 18 23 the same track rail.
range of E(")  under 39 24 42 55 68 83
Maximum length (2) 1980 1980 3000 2960 3000 3000
9 (3000) (3000) (8960) (4000) (4000) (8960)

Notes (") : Not applicable to the track rail with female threads for bellows (supplemental code “/J")
(®) : Track rails with the maximum lengths shown in parentheses can also be manufactured. Consult IIC0 for further information.
(®) : Applicable for Half pitch of track rail mounting hole.

I-199

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch

I-200




I

—Special specification—

0 Special specification

/A, /D, /E, /F, /HP, /1,
1O, /LO, /LFO, /Q,
NO, WO, /YO, /12O

For applicable special specifications, see Table 5.
When several special specifications are combined, see
Table 6. For details of special specifications, see page

I

Table 7 Female threads for bellow mounting (Supplemental code /J,/JJ)

m-17.
Table 5 Special specifications
Optional specification Supplemental Size
code 25 35 45 55 75
Butt-jointing track rails /A O O O O @)
Opposite reference surfaces arrangement /D O O O O ©)
Specified rail mounting hole positions /E @) O O @) O
Caps for rail mounting holes /F O O O O O
Half pitch of track rail mounting hole /HP O X X X X
Inspection sheet /1 @) O O O O
Female threads for bellows NO O ©) ©) ©) ©)
Black crome surface treatment /LO O @) O O O
Fluorine black crome surface treatment /LFO @) O O O O
C-Lube plates /Q O O O O @)
Double end seals NO @) X X X X
Matched sets to be used as as assembled group /WO @) O O O O
Specified grease YO O ©) O ©) ©)
Scrapers /120 @) O O O O

b b, 4—M, xdepth (]
.
=P F ﬁ
)
k3 %l IR i & j
L
<
@—> 2—M, X depth
[B]
unit : mm
Slide unit Track rail
Model number
a, a, b, b, b, b, MiXdepth | L, (") a, a, M2Xdepth
LRWX 25---B 5 12 15 33 7 49 M3X 6 116 7 12 M4x 8
LRWX 35--B 29 10
X X
LRWXH 35 6 16 31 42 12 80 M3X 6 166 8 16 M4Xx 8
LRWX 45--B 34 12
X X
LRWXH 45 8 20 38 52 16 96 M4Xx 8 221 10 19 M5X10
LRWX 55--B 36 15
X X
LRWXH 55 9 24 43 68 2 110 M5X10 282 12 23 M6Xx12
LRWX 75--B 85 15.5
X X
LRWXH 75 10 35 1 110 25 149 M5X10 366 15 30 M6Xx12

Table 6 Combination of special specifications

D | O

E__

FIO|O

HP| - | O |- 10

1/0/0]|0]0O0|0

J|O|O|O0|O0]| -0
LOIOJO]O|O]|O0]|0
LFIO|O|O]|O]|O|O|0O]| =
QO|0O|0]|0|O0|O|-]0]0
V|OJO|O|O]O0]|O0|O0|0O |0
WIO|O|-]10|O]O0]0|0O0]|0 ©)
Y OlO]|O]|O]|O0O|O|O]O]|O o]0
Z|0O|0|0]|0]|O0|O0|-]0]|0O 0|00
A|D|E|F|HP| I |J|L|LF VI WY

Remarks 1 : The mark — indicates that this combination cannot be made.

2 1 if a combination of special specifications is required, indicate the supplemental codes in alphabetical order.

I-201

Note (") : The vales for the slide unit with female threads for bellow mounting at the both sides.

Table 8 Slide unit with C-Lube plateas(Supplemental code /Q)

C-Lube plate

)

C-Lube plate

m

=

Table 9 Slide unit with scrapers (Supplementa code /Z2)

scraper

(L)

scraper

unit : mm unit : mm
Size L, Size L,
25 120 25 120
35 166 35 164
45 218 45 217
55 275 55 275
75 364 75 361
Remark : The values for the slide unit with C-Lube plates at both Remark : The values for the slide unit with scrapers at both ends.
ends.
End seal 118 End seal

J?

¥

i

s

E,

T

Fig. 2 Silde unit with double end seals (Size 25)
(Supplemental code /V,/VV)

Remark : The vales for the slide unit with double end seals at both-

ends.

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch

I-202



I

Lithium-soap base grease (ALVANIA grease EP 2 : SHELL) is pre-packed in LRWX series slide units.
LRWHX series are provided with grease nipple shown in Table 10.

Table 10 Parts of lubrication

Nominal size of female
. . : .
Size Grease nipple () Applicable supply nozzle S A
25
35 JIS 1 type M6
45 Grease gun available on the market
55 JIS 2 type PT1/8
75

Note(") : See Table15.2 on Page II-22 for specifications of grease nipples.

Linear Roller Way X is protected from dust by special rubber seals. But, if large amount of fine contaminants are present, or if
large particles of foreign matters such as dust or chips may fall on the track rail, it is recommended to provide protective cov-
ers such as bellows for the entire linear motion mechanism. Bellows to match the simensions of Linear Roller Way X are op-
tionally available. They are easy to mount and highly effective for dust protection. If required consult.

Precautions for Use

(®Mounting surface, reference mounting surface, and gen-
eral mounting structureMounting surface, reference
mounting surface, and general mounting structure

To mount Linear Roller Way X, correctly fit the reference
mounting surfaces B and D of the slide unit and the track
rail to the reference mounting surfaces of the table and the
bed, and then fix them tightly. (See Figs. 3.)
The reference mounting surfaces B and D and mounting
surfaces A and C of Linear Roller Way X are accurately fin-
ished by grinding. Stable and high accuracy linear motion
can be obtained by finishing the mating mounting surfaces
of machines or equipment with high accuracy and correctly
mounting the guide on these surfaces.

The slide unit reference mounting surface is always the side

surface opposite to the IO mark. The track rail reference

mounting surface is identified by locating the IICO mark on
the top surface of the track rail. The track rail reference
mounting surface is the side surface above the IO mark

(in the direction of the arrow). (See Figs. 4.)

g

Fig. 3 Reference mounting surfaces and
general mounting structure

Reference

mounting
Slide unit surface
[B]
Track rail
N
o0 0o
o
@ o [
LI mark $ $ $ $

\ T mark

Fig. 4 Reference mounting surface

I-203

()

@Mounting slide unit

In the slide unit of LRWX25---B and LRWXH, mounting holes
are also prepared on the middle of slide unit to support any
direction of load and moment in good balance.

It is recommended to fix all mounting hokes to have full per-
formance of products.

Middle mounting hole
of the slide unit

Fig. 5 Middle mounting hole of the slide unit

®Corner radius and shoulder height of reference mount-
ing surface

It is recommended to make a relieved fillet at the corner of

the mating reference mounting surfaces as shown in Fig. 6.

Otherwise, corner radius R is recommended shown in Table

11. Table 11 shows recommended shoulder heights and ra-

dius of the reference mounting surfaces.

Fig. 6 Relieved radius shape of reference mounting surface

Table 11 Corner radius and shoulder height of reference
mounting surfaces

N 7
== i~

Slide unit Track rail
unit : mm
Slide unit Track rail
Size Shoulder Shoulder Relieved radius
height height
h, h, R (max.)
25 6 4 1
35 8 55 1
45 8 6 1
55 10 8 15
75 10 8 1.5

@Tightening torque of mounting bolts

The standard torque values for Linear Roller Way X mount-
ing bolts are shown Table 12. When machines or equipment
are subjected to survere vibration, shock, large fluctuating
load, or moment load, the bolts should be tightened with a
torauw 1.2 to 1.5 times higher than the standard torauq val-
ues shown.

When the mating member material is cast iron or aluminum,
tightening torque should be lowered in accordance with the
strength characteristics of the material.

Table 12 Tightening torque of mounting bolts

. Tightening torque N-m
Bolt size Carbon steel bolt
M6 Xx1 13:3
M 8 x 1.25 32.0
M10 X 1.5 62.7
M12 X 1.75 108
M16 X 2 263
M24 X 3 882
Remark : The recommended tightening torque is for strength division
12.9.

1N=0.102kgf=0.2248lbs.
1mm=0.03937inch I-204




LK T
11O Linear Roller Way X

Block type mounting from top

(W) (L,
W, W,/2 (W) L,
Shape 6—M,x depth W, W, 2 8—M, xdepth W, (L) | L,
Grease Grease
nipple () W, W, nipple () d, L, L, L,
B S
Size g | ; T T T
- T 3 - =) T i : = o — b ,
T i =) $- 5._ = = L S % 1 o
L ¥ A i NN
N | W N W) dy
LRWX 25---B LLL, E
L(")
Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic(*) | Basic(%) Static moment rating (4)
assembly mm mm for track rail(®) | dynamic | static
Model number mm load rating | load rating
Slide unit | Track rail C C, T, T, T,
H H, N W, W, W, w, I, L, L, L, L, | M XFRE H, w H, d, d, h 1) F | Bolt sizeXlength
kg kg/m N N N-m N-m N-m
LRWX 25--B 093 | 370 | 40 | 6 |20 | 70| 63| 46| 85| 109 | 45| 74411 | — |M6x 9 1M | 23 | 26 | 7 |11 9 | 30 | 60 M 6x28 32700 | 70300 | 1110 5588 | 5588
LRWX 35--B 2.65 666 | 48 | 65 |325| 104 | 100 | 70 |15 | 154 | 75 |108.4| 12.8 | 25 |M10x12 10 | 3 | 32 | 11 | 175 | 14 | 30 | 60 M10x35 49900 | 91100 | 2150 4889 | 4889
LRWX 45--B 532 | 103 | 60 | 8 [37.5| 129 | 120 | 82 |19 | 205 | 105 144 |185| 35 |M12x16 145 | 45 | 39 | 14 |20 | 16 | 40 | 80 M12x40 93300 | 167000 | 5000 | 3888 | ,4939
LRWX 55-B 909 | 153 | 70 | 9 [425| 146 | 140 | 95 | 225 | 262 | 135 |189 |24.5| 45 |M12x18 16 | 55 | 47 | 18 |26 | 21 | 50 | 100 M16X50 186000 | 330000 | 12200 | 29499 | 19788
LRWX 75--B | 19.0 25.1 9 | 10 | 525|195 | 180 | 123 | 28.5 | 346 | 180 |240 |45 | 60 | M16x25 20 | 75 | 57 | 26 |39 | 30 | 60 | 120 M24X60 298000 | 518000 | 25200 | 439339 | 139333
Notes (1) : Track rail lengths are shown in Table 2 on page I-199. 1N=0.102kgf
(?) : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of LRWX
series, track rail mounting bolt is not appended.
(®) : The directions of basic dynamic load rating (C), basic static load rating (C,) and static moment rating (7,, T,, T,,) are shown in the
sketches below. The upper values in the T, and T, columns apply to one slide unit, and the lower values apply to two slide units in
clode contact.
(%) : For grease nipple specifications, see Table 10 on page I-203.
Example of identification number of assembled set
Model code Size Part code Model code Preload symbol  Class symbol  Supplemental code

LRWX 35 C2 R840 B T1 P /W2

(1 e 6 O (1 (5] o (7
LRWX:--B | Block type mounting from top No symbol | Standard

Ti Light preload

G C T T Medium preload

) T, T, e 2 eqium preloa

@ SN N LD 25, 35, 45, 55, 75 Ts Heavy preload

‘ ‘ P
U_EE_” ”_é §J @ @r ) ]@ (3 Number of slide unit (two units) H Hig

P Precision
44 (@ Length of track rail (840mm) Sp Super precision
uP Ultra precision

1N=0.102kgf=0.2248lbs.

I-205 1mm=0.03937inch I-206



I

11O Linear Roller Way X

Flange type mounting from bottom

LK)

W) (L)
LRWXH
W, W,/2 L,
W, . - @ |, L,
Shape ‘ a L2, L2
6-d, |24 L
: = Y ‘ =
Size = T P
r =
= R ¢ < = = %i\ =
Ll gl L L
= w d,
1
E _i F E
L()
Mass (Ref.) Dimensions of Dimensions of slide unit Dimensions of track rail Mounting bolt | Basic(*) | Basic(4) Static moment rating (4)
assembly mm mm for track rail(®) | dynamic | static
Model number mm load rating | load rating
Slide unit| Track rail C C, T, T, T,
H | H | N | W |W | Ww/|WwW|L | L |L | L | L | d4d | H H | H | W | H | 4 | d, h E F |Bolt sizeXlength
kg kg/m N N N-m N-m N-m
LRWXH 35 2.51 6.66 | 48 | 6.5 |345| 106 | 104 | 86 | 9 | 154 | 75 (1084|128 60 | 9 | 12 10 7 |3 | 32 | 11 |175] 14 | 30 | 60 M10x35 49900 | 91100 | 2150 Jeso ) 1aeg
LRWXH 45 518 | 103 | 60 | 8 |41.5| 133 | 128 | 108 | 10 | 205 | 105 (144 |185| 80 | 11 | 15 145| 10 | 45 | 39 | 14 |20 | 16 | 40 | 80 M12x40 93300 | 167000 | 5000 | 3339 | 4838
LRWXH 55 908 | 1563 | 70 | 9 |495| — | 154 | 130 | 12 | 262 | 135 189 |24.5| 106 | 14 | 18 16 | 10 | 55 | 47 | 18 |26 | 21 | 50 | 100 M16X50 186000 | 330000 | 12200 | 20708 | 10700
LRWXH 75 | 19.7 | 25.1 90 |10 |59.5| 202 | 194 | 164 | 15 | 346 | 180 (240 |45 | 134 | 18 | 24 20 | 16 | 75 | 57 | 26 [39 | 30 | 60 | 120 M24X60 298 000 | 518000 | 25200 | 4392339 | ;592399
Notes (1) : Track rail lengths are shown in Table 2 on page I-199. 1N=0.102kgf
(?) : The appended track rail mounting bolts are hexagon socket head bolts of JIS B 1176 or equivalent. In assembled set of LRWX
series, track rail mounting bolt is not appended.
(®) : The directions of basic dynamic load rating (C), basic staic load rating (C,) and static moment rating (7, T,, 7,) are shown in the
sketches bellow. The upper values in the 7, and T, columns apply to one slide unit, and the lower values apply to two slide units in
clode contact.
(%) : For grease nipple specifications, see Table 10 on page I-203.
Example of identification number of assembled set
Model code Size Part code Preload symbol ~ Class symbol  Supplemental code
LRWXH 35 C2 R840 T P /W2

I-207

$$$}
¢ & &

© 6 O

(5]

(1) Series (5) Preload amount
LRWXH Flange type mounting from bottom No symbol | Standard
T1 Light preload
0 T2 Medium preload
35, 45, 55, 75 T3 Heavy preload
(3 Number of slide unit (two units) H Hig
P Precision
(@ Length of track rail (840mm) SP Super precision
UP Ultra precision

1N=0.102kgf=0.2248lbs.

1mm=0.03937inch

I-208



